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General

QUESTION 1

A VCEPlus

You are developing a Windows Azure based web application that provides users the ability to rent training videos. The application is deployed to hosted

services in Asia and Europe.

The web application must meet the following requirements:
» Video files are large and must be able to be streamed.
= Streaming videos requires low latency network connections.

Rental data contains structured information about the user and the video.
Rental permissions are checked every five seconds during video playback.

You need to recommend storage architecture for the application. What should you do?

Select and Place:

Table Storage
Active Directory
Service Bus
Blob Storage

windows Azure Drive

Correct Answer:

Answer Area

—

‘Videos )

Asia

—
)

EECEEEE

J 090
web role ®b

Europe

| 09O
web role ®®
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Answer Area

—

‘Videos | Asia
Active Directory oy '

Service Bus ﬁ - O %
S web role @

Windows Azure Drive Blob Storage

/" Rental ) Europe

2 sd 009
ﬂ web role ®®

Table Storage

EECEEEE

Section: (none)
Explanation

Explanation/Reference:

QUESTION 2

You need to configure the Windows Azure service definition to enable Consolidated Messenger to upload files. What should you do? (To answer, drag
the appropriate configuration items to the correct location or locations. Each configuration item may be used once, more than once, or not at all. You
may need to drag the split bar between panes or scroll to view content.)

Select and Place:
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Answer Area
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<Binding name="Website" endpointName="Website®™ />

http <Binding name="Transfer" endpointName="Transfer" />
</Bindings>
tcp </8ite>
</Sitesa>
https <Endpoints>

InternalEndpoint

< name="Website"
InputEndpoint
80 protocol="
'
22
i port="
3389
< name="Transfer"®

port="

</Endpoints>
</WebRole>

Correct Answer:
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<Binding name="Website" endpointName="Website®™ />

Answer Area

http <Binding name="Transfer" endpointName="Transfer" />
</Bindings>
tcp </Site>
</Sitez>
https <Endpoints>
InternalEndpoint = = ;
« inputEndpoint SaRe=Tehui el
InputEndpoint
8o 5 protocol=" | http =
22 i
i port=" | 80 ">
2389
< inputZndpoint name="Transfer®
protocol=" | LCPp "
port=" | 22 " I

</Endpoints>
</WebRole>

Section: (none)
Explanation
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Explanation/Reference:

QUESTION 3
HOTSPOT

A VCEPlus

You need to deploy the application to the Windows Azure production environment to meet the business requirements. What should you do? (To answer,

select the appropriate button in the answer area.)

Hot Area:

o || e | WX

Upgrade | (Confi gl:.tre | Delete
Deployments

Choose Columns H|

Name
£ Main
L~ Main
[ Certificates

4 Windows Azure Tools
. Main Deployment
;3 MvcWebRolel
W) MvcwebRole1_IN_0
Main Deployment - staging
& MvcWebRolel
B MvcwebRole1_IN_0

: AL,
I.?nm:":':jl
@ @

Stop i Swap

|
= ||
08

Service Certificate
Deployment

Role

Instance
Deployment

Role

Instance

g

Configure

‘ Instances

Environment

Production
Production
Production
staging
Staging

Staging
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Correct Answer:

| _
o | | WX O

iUpgde lCurﬁgure Delete Start

Deployments

' Choose Columns &

Name
£ Main
. Main
[ Certificates

4 Windows Azure Tools
.. Main Deployment
E\ MvcWebRolel
H! MvcWebRolel_IN_0O
. Main Deployment - staging
& MvcWebRolel
4 MvcwebRole1_IN_0

Section: (none)
Explanation

Explanation/Reference:

QUESTION 4

A VCEPIlus

Type

Subscription

Hosted Service

Service Certificate
Deployment

Role

Instance
Deployment

Role

Instance

Configure
| 05 |

=

Beboot

Instances

Environment

Production
Production
Production
Staging
Staging
Staging
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The service has been deployed to Windows Azure. Trey Research has provided version 1.3.0.0 of the assembly to support a change in the serialization
format. The service must remain available during the transition to the new serialization format. You need to ensure that the service is using the new
assembly. Which configuration setting should you add to the web.config? (To answer, drag the appropriate configuration elements to the correct location
or locations in the answer area. Each configuration element may be used once, more than once, or not at all. You may need to drag the split bar

between panes or scroll to view content.)

DRAG DROP

Select and Place:
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codeBase version="1.3.0.0" href="Trey.Serialization.dll"
bindingRedirect oldVersion="1.2.5.0" newVersion="1.3.0.0"
bindingRedirect oldVersion="1.2.0.0" newVersion="1.3.0.0"
runtime

location

<assemblyBinding xmina="urn:schemas-microsoft-com:asm.v1">
<dependentAssembly>
<assemblylIdentity name="Trey.Serialization" />

</dependentAssembly>
</assemblyBinding>

</

Correct Answer:

A VCEPlus
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codeBase version="1.3.0.0" href="Trey.Serialization.dll"
bindingRedirect oldVersion="1.2.5.0" newVersion="1.3.0.0"
bindingRedirect oldVersion="1.2.0.0" newVersion="1.3.0.0"
runtime

location

¢ runtipme >

<assemblyBinding xmina="urn:schemas-microsoft-com:asm.v1">

<dependentAssembly>
<assemblylIdentity name="Trey.Serialization" />

< | bindingRedirect oldVersion="1.2.0.0" newVersion="1.3.0.0"

</dependentAssembly>
</assemblyBinding>

</ runtime s

Section: (none)
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Explanation

Explanation/Reference:

QUESTION 5

You are building an ADO.NET Entity Framework application. You need to validate the conceptual schema definition language (CSDL), store schema
definition language (SSDL), and mapping specification language (MSL) files. Which Entity Data Model tool can you use? (Each correct answer presents
a complete solution.

Choose all that apply.)

EDM Generator (EdmGen.exe)
ADO.NET Entity Data Model Designer
Entity Data Model Wizard

Update Model Wizard

Cow>»

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
EdmGen.exe (http://msdn.microsoft.com/en-us/library/cc716721.aspx)
ADO.Net Entity Data Model Designer (http://msdn.microsoft.com/en-us/library/vstudio/cc716685(v=vs.100).aspx)

The Entity Data Model wizard creates the .edmx files. It does not validate the CSDL, SSDL or MSL files.
The Update Model wizard updates the .edmx file after changes have been made. It does not validate the CSDL, SSDL or MSL files.

QUESTION 6
You are planning to migrate websites from IIS 6 to IS 7.5. You do not have access to SSH or a VPN. You need to select a deployment tool to securely
migrate the websites. Which tool should you use?

RoboCopy

Web Deploy

Microsoft command-line FTP
xCopy

Cow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 7
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You are preparing to develop a set of libraries for a company. The libraries must be shared across the company. You need to create a remote NuGet
feed that exposes the libraries. What should you do? (Each answer presents part of the solution. Choose all that apply.)

GmMmoOOow2

Correct Answer: BEFG
Section: (none)
Explanation

Explanation/Reference:

QUESTION 8

Install the NuGet.Feed Package.

Install the NuGet.Server Package.
Configure the Packages folder located in the system.webserver section of the web application’s Web.config.
Create a new Empty Web Site in Visual Studio 2012.
Configure the Packages folder located in the appSettings section of the web application’s Web.config.
Add packages to the Packages folder.
Create a new Empty Web Application in Visual Studio 2012.

You are developing an application in Visual Studio 2012 to display student information. The application contains the following Entity Framework model.

#: Course

= Properties
wi Courseld
# Name

= Navigation Properties
n.'rlt-' Grades

»

oy

*v Grade

= Propertias
il FiStudentld
vl FKCourselD
F GradeEarned
= Navigation Properties
JQ Course

w2l Student

#s Student 2]

= Properties
Wi Studentld
# FirstName
F LastName
& Gender
= Mavigation Properties
val Grades

The application contains a WCF data service named DirectoryService.svc. You need to create a query expression to display all of the grades for
students whose first name is "John" How should you build the expression?
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http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName eq 'John’ &$expand=Grades
http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName eq 'John’/Grades
http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName = 'John’ &$expand=Grades
http://localhost:54946/DirectoryService.svc/Grades/Students?$filter=FirstName eq 'John’

Cow>»

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 9
You are developing a WCF service that compares several data sources. The service takes a long time to complete. The service must meet the following
requirements:

= - The client must be able to continue processing while the service is running.
= - The service must initiate communication with the client application when processing is complete.

You need to choose a message pattern to meet the requirements. Which message pattern should you choose?

One Way
Streaming
Duplex
Request/Reply

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 10
You are developing a WCF service. A new service instance must be created for each client session. You need to choose an instancing mode. Which
instance mode should you use?

A. PerCall
B. Single
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C. Multiple
D. PerSession
E. PerRequest

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
WCF Instancing Modes (http://msdn.microsoft.com/en-us/library/ms731193.aspx)

QUESTION 11
HOTSPOT

You are supporting an application that uses the ADO.NET Entity Framework to query and access data. The latest version of Entity Framework contains
bug fixes that will improve performance. You need to update Entity Framework. Which Visual Studio 2012 menu item should you choose? (To answer,
select the appropriate menu item in the answer area.)

Hot Area:
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SOL  TOOLS | TEST  AMALYZE  WINDOW  HELP

orer = |

G_'Ei

Servi "?
=

=

[

Attach to Process.., Ctri+Alt+P

Connect to Database...

Connect to Server...

Add SharePoint Connection...
Code Snippets Manager...
Choose Toolbox ltems...

Add-in Manager...

Library Package Manager
Extensions and Updates...

Install Web Components
PreEmptive Dotfuscator and Analytics
Spy++ [xbd)

WCF Service Configuration Editor
External Toaols...

Import and Export Settings...
Customize...

Options...

Ctrl+K, Ctrl+B

Correct Answer:

(]

A VCEPlus
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SOL  TOOLS | TEST  AMALYZE  WINDOW

orer = |

G_'Ei

Servi "?
=

=

[

Attach to Process..,
Connect to Database...

Connect to Server..,

Add SharePoint Connection...
Code Snippets Manager...
Choose Toolbox ltems...

Add-in Manager...
Library Package Manager
Extensions and Updates...

Install Web Components

PreEmptive Dotfuscator and Analytics
Spy++ (%64

WCF Service Configuration Editor
External Toaols...

Import and Export Settings...
Customize...

Options...

HELP

Ctri+Alt+P

Ctrl+K, Ctrl+B

Section: (none)
Explanation

Explanation/Reference:

QUESTION 12

(]

A VCEPlus

You need to recommend a data access technology to the contractor to retrieve data from the new data source. Which data access technology should

you recommend?

A. LINQ to XML
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B. ADO.NET Entity Framework
C. ADO.NET DataSets
D. WCF Data Services

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 13
Data provided by Consolidated Messenger is cached in the HttpContext.Cache object. You need to ensure that the cache is correctly updated when new
data arrives. What should you do?

Ensure that the EffectivePrivateBytesLimit value is greater than the size of the database file.
Change the sliding expiration of the cache item to 12 hours.

Use the SglCacheDependency type configured with a connection string to the database file.
Use the CacheDependency type configured to monitor the SFTP target folder.

Cow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 14

The DeleteExternalOrder() method in the ExternalQueueService service is not throwing a FaultException exception as defined by the
FaultContractAttribute attribute in the IExternalQueueService.cs file. You need to throw the FaultException exception. Which code segments can you

insert at line EQ45 to achieve this goal? (Each correct answer presents a complete solution. Chose all that apply)

Hot Area:

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online - IT Certifications



A VCEPIlus

T A throw new FaultException<OrderNotFoundException» (ex.ExceptionMessage) ;

T B. throw new FaultExcepti
FaultReason ("Order not fcund.

" C. throw new FaultException<OrderN

T D. throw new FaultExcepti
(new OrderNotFoundExc
found.™):

Correct Answer:
T A throw new FaunltExcept

on<0

=
e

-FoundException» (ex, new
-

ion (new Exception(ex.ExceptionMessage)), "Order not

ion<OrderNotFoundExceptiony> (ex.ExXxceptionMessage) ;

I B. throw new FaultException<0 tFoundException> (ex, new
FaultReason ("Order not fcund. ' -
T €.| throw new FaultEx ception<OrderNotFoundExceptiony(ex) :
T D. throw new FaultException
(new OrderNotFoundException n(new Exception(ex.ExceptionMessage)), "Order not

found.");

Section: (none)
Explanation

Explanation/Reference:

QUESTION 15

You need to regenerate the service proxies to include task-based asynchronous method signatures. Which command should you use?
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aspnet_regiis.exe /t:code http://localhost:62965/UploadCallbackService.svc
svcutil.exe /t:code http://localhost:62965/UploadCallbackService.svc
aspnet_compiler.exe /t:code http://localhost:62965/UploadCallbackService.svc
aspnet_regiis.exe /t:code http://localhost:62965/UploadService.svc

svcutil.exe /t:code http://localhost:62965/UploadService.svc

moow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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Casel

QUESTION 1
Case Study: 1

Scenario 1

Background

You are developing a flight information consolidation service. The service retrieves flight information from a number of sources and combines them into
a single data set. The consolidated flight information is stored in a SQL Server database. Customers can query and retrieve the data by using a REST
API provided by the service. The service also offers access to historical flight information. The historical flight information can be filtered and queried in
an ad hoc manner. The service runs on a Windows Azure Web Role. SSL is not used.

Business Requirements

- A new data source for historical flight information is being developed by a contractor located on another continent.

- If a time zone is not specified, then it should be interpreted as Coordinated Universal Time (UTC).

- When you upgrade a service from a staging deployment to a production deployment, the time that the service is unavailable must be minimized.

- The default port must be used for HTTP.

Technical Requirements

The existing sources of flight information and the mechanism of exchange are listed below.

- Blue Yonder Airlines provides flight information in an XML file.

- Consolidated Messenger provides flight information in a Microsoft Access database that is uploaded every 12 hours to the service using SFTP. The
company uses port 22 for SFTP.

- Margie’s Travel provides and consumes flight information using serialized ADO.NET DataSets. Data is periodically synced between the service and
Margie's Travel.

- Trey Research provides data from multiple sources serialized in proprietary binary formats. The data must be read by using .NET assemblies provided
by Trey Research. The assemblies use a common set of dependencies. The current version of the Trey Research assemblies is 1.2.0.0. All assemblies
provided by Trey Research are signed with a key pair contained in a file named Trey.snk, which Trey Research also supplies.

- The application specification requires that any third-party assemblies must have strong names.

Application Structure
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FlightInfo.cs

iNDT0

public class Flight
string DataSource { get: set: }
public string RAirline { g=t; =et; }
public string Flight { get:; set; }
public DatelimeQffset Arrival { get; set; }
public int Seats { get; set; }
public bool WasLate { get; =et; }

BlueYonderLoader.cs

public class BlueYond

:

n
&l

m

public IEnumerable<BawFlightData>» LoadFlights (XDocument feed)

private BawFlightData Parse (KElement flightElement)
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HistoricalDatalLoader.cs

pahlic class HistoricalDatseLoader

i

public static IEnumerable<HistoricalFlightInfo» LoadHiscoricalFlights ()

¥

public woid StreamHistoricalFlights (imlWriter responseNriter, string airline)

!

privace XElement ConvertToHistoricalFlight (XElement flight)

recurn new XElement ("Flight®™, flight);

H

privats string GetAirline (XElement flightName)

return flightName.Value,Substring (0, 2):

merable<iElement> HamoteDataStream()

return Xdocument.Load{("") .Elements()
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MargiesTravelSync.cs
public class MargiesTravelSync
public woid Synec()

® 8w

private DataSet LoadLocal|()
var dataSet = new DataSet():

datadSet.ReadXml ("local™) ;
return datasSet;

private ScreamWriter SendStream()

return new StreamiWriter("SendStream®) ;

private StreanmBesder ReceiveStream()

ReceiveStream®) ;

return new StreamBeader |

A VCEPlus
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FlightInfoContext.cs

public class FlightInfcContext : DbContext
4

%

public DhSet<FlightInfo» FlightInfo { get; sstc: )}

public override int SaveChanges()

return base,SaveChangesi{);

private bool IsTransient(int &x)
i
var errora = pewf] { 10053, 100549, 04 3:;

return errors.Contains(ex):

FlightDataController.cs

public clas=s FlightDataController @ ApiController
{
FlightInfoContext _Contex:c;

public FlightDataControilser()

_Context = new FlightInfoContext():

}

P T TR —
|HEEpEet |
B

publics: IEnumarable<FlightInfod> GetFlightInfal)

recturn _Context.FlightInic.Select(x => X).AsSEnumerable():

private IEnumerable<HiastoricalFlightInfo» LoadHistorical()

recturn HistoricalDatalLoader.LoadHistoricalFlights():

A VCEPlus
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A. THIS IS JUST THE CASE STUDY. PICK THIS
B.
C.
D.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2

Errors occasionally occur when saving data using the FlightinfoContext ADO.NET Entity Framework context. Updates to the data are being lost when an
error occurs. You need to ensure that data is still saved when an error occurs by retrying the operation. No more than five retries should be performed.
Which code segment should you use as the body of the SaveChanges() method in the FlightinfoContext.es file?

Hot Area:
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" A | for (var i = 0; i < 5; i++)

try
{
recurn base.SaveChanges():;
i
catch |[SglException ex)
{
if (IsTransient (ex.RNumber))

continue;

}
return base.SaveChanges() s

(" B. | var exception = new EntitySglException():
while (exception.Data != (0 &5 exception.Data.Count < 5)
{
LIy
{
return base,.SaveChanges() :
}
catch [EntictySglException ex)

L

if (IaTransient (ex.HBesult))

exception = ex;
}

}
return base.SaveChange=():

" C.| for (var i = 0; i < 5; i++)
{
try
{
return base.S5aveChanges():
}
catch (SglException ex)

i
£

www.vceplus.com - Downloac if (IsTramsient (ex.Number))
{

VCE Online - IT Certifications

break:
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Correct Answer:
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C A | for (var i = 0; i < 5; i++)

try
{
recurn base.SaveChanges():;
i
catch |[SglException ex)
{
if (IsTransient (ex.RNumber))

continue;

}
return base.SaveChanges() s

(" B. | var exception = new EntitySglException():
while (exception.Data != (0 &5 exception.Data.Count < 5)
{
LIy
{
return base,.SaveChanges() :
}
catch [EntictySglException ex)

L

if (IaTransient (ex.HBesult))

exception = ex;
}

}
return base.SaveChange=():

" C.| for (var i = 0; i < 5; i++)
{
try
{
return base.S5aveChanges():
}
catch (SglException ex)

i
£

www.vceplus.com - Downloac if (IsTramsient (ex.Number))
{

VCE Online - IT Certifications

break:
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 3
You need to load flight information provided by Consolidated Messenger. Which should you use?

SQL Server Data Transformation Services (DTS)
EntityTransaction and EntityCommand

Office Open XML

OleDbConnection and OleDbDataReader

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 4

You are adding a new REST service endpoint to the FlightDataController controller that returns the total number of seats for each airline. You need to
write a LINQ to Entities query to extract the required data.

Which code segment should you use?

Hot Area:
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- A

var query = from flight im Context.FlightInfo
group flight by flight.Seats into agg
let airline = agg.Firsti{)
select new
TotalSeats = agg.Hey,
Airline = airline,
LS

"

" B.| var query = from flightl in Context.FlightInfo
from flightl in Context.FlightInfo
where flightl.Airline == flight2.Airline
zelect new
Adriine = flightl . Airline,

TotalSaats = Mach.BigMul (flightl.Seats, flightl.S=atcs),

.
L3

' C| war query = from flight in Context.FlightInfo
from airline in flight.Airline
group airline by airline into agg
selact naw
Airlime = agg.Key,
TotalSeats = agg.Sum(x =»> Convert.Tolnt3Z (x}},
}:
T D,

var query = Irom Iflight in "Cnntext.F;ightinfD

group flight by flight.2irline into agg
salect new

Alrlinme = agg.Xey,
TotalSeats = agg.Sum({x =>» x.S5eats),

Correct Answer:

A VCEPlus
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Section: (none)
Explanation

" A var query = from flight imn Context.FlightInfc

group flight by flight.Seats into agg
let airline = agg.Firsti{)
select new
TotalSeats = agg.Hey,
Airline = airline,
}-

"

" B.| var query = from flightl in Context.FlightInfo
from flightl in Context.FlightInfo
where flightl.Airline == flight2.Airline
zelect new
Adriine = flightl . Airline,

TotalSaats = Mach.BigMul (flightl.Seats, flightl.S=atcs),

.
L3

' C| war query = from flight in Context.FlightInfo
from airline in flight.Airline
group airline by airline into agg
selact naw
Airlime = agg.Key,
TotalSeats = agg.Sum(x =»> Convert.Tolnt3Z (x}},
=B var query = Irom Iflight in "Cnntext.F;ightinfD

group flight by flight.2irline into agg
salect new

Alrlinme = agg.Xey,

TotalSeats = agg.Sum({x =>» x.S5eats),

A VCEPlus
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Explanation/Reference:

QUESTION 5
You need to load flight information provided by Consolidated Messenger. What should you use?

Office Open XML

COM interop

OleDbConnection and OleDbDataReader
EntityConnection and EntityDataReader

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 6

Historical flight information data will be stored in Windows Azure Table Storage using the Flightinfo class as the table entity. There are millions of entries
in the table. Queries for historical flight information specify a set of airlines to search and whether the query should return only late flights. Results should
be ordered by flight name. You need to specify which properties of the Flightinfo class should be used at the partition and row keys to ensure that query
results are returned as quickly as possible. What should you do? (Each correct answer presents part of the solution. Choose all that apply.)

Use the WasLate property as the row key.
Use the Airline property as the row key.

Use the WasLate property as the partition key
Use the Arrival property as the row key.

Use the Airline property as the patrtition key.
Use the Flight property as the row key.

mmoow>

Correct Answer: EF
Section: (none)
Explanation

Explanation/Reference:

QUESTION 7
Transformed historical flight information provided by the RemoteDataStream() method must be written to the response stream as a series of XML
elements named Flight within a root element named Flights. Each Flight element has a child element named FlightName that contains the flight name
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that starts with the two-letter airline prefix. You need to implement the StreamHistoricalFlights() method so that it minimizes the amount of memory
allocated. Which code segment should you use as the body of the StreamHistoricalFlights() method in the HistoricalDatalLoader.cs file?

Hot Area:
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" A | responseWriter.WriteStartElement ("Flights"):
var flights = RamoteDataScream()
OrderBy (% => GetAirline(x.Element ("FlightNam="))):
var filteredFlights = flights
SkipWhile(x =» GetAirline (x.Element ("FlightName™)) !'= airline)};
foreach (var £ in filteredFlights)

»
L

var flight = ConvertToHistoricalFlight (f);
flight.Writelo(responseWriter);

}

responseWNriter.WriteEndElement () 2

T B responseWricer. . WriteStartElement ("Eiights") ;
var flights = HBemoteDataStream{) .Select(x =>
if (GetAirline(x) == mirline)
{
return ConvertToHistoricalFlight (x):
}
return null;
b):

flights.TakeWhile{x =>

®.WriteTo (responseWriter) ;
return x != null;
iz

responsceWNriter.WriteEndElement ()

" C, wvar data = RemoteDataStream().ToDictionary(x =>
GethAirline(z.Element ("FlightName™)) ,
x = noaw XStreamingElement ("Flights", ConvertToHi=storicalFlight (x).Descendants())):
data[airline].WriteTo (responselricer):

T D var flight= = new XStreamingElement ("Flighta",
from flight in RemoteDataStream()
where GetAirline(flight.Element ("FlightName")) = airline
select ConvertToHistoricalFlight (flight)):
flighta.WriteTo (responsellriter):
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Correct Answer:
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" A | responseWriter.WriteStartElement ("Flights"):
var flights = RamoteDataScream()
OrderBy (% => GetAirline(x.Element ("FlightNam="))):
var filteredFlights = flights
SkipWhile(x =» GetAirline (x.Element ("FlightName™)) !'= airline)};
foreach (var £ in filteredFlights)

»
L

var flight = ConvertToHistoricalFlight (f);
flight.Writelo(responseWriter);

}

responseWNriter.WriteEndElement () 2

T B responseWricer. . WriteStartElement ("Eiights") ;
var flights = HBemoteDataStream{) .Select(x =>
if (GetAirline(x) == mirline)
{
return ConvertToHistoricalFlight (x):
}
return null;
b):

flights.TakeWhile{x =>

®.WriteTo (responseWriter) ;
return x != null;
iz

responsceWNriter.WriteEndElement ()

" C, wvar data = RemoteDataStream().ToDictionary(x =>
GethAirline(z.Element ("FlightName™)) ,
x = noaw XStreamingElement ("Flights", ConvertToHi=storicalFlight (x).Descendants())):
data[airline].WriteTo (responselricer):

D, var flight= = new XStreamingElement ("Flighta",
from flight in RemoteDataStream()
where GetAirline(flight.Element ("FlightName")) = airline
select ConvertToHistoricalFlight (flight)):
flighta.WriteTo (responsellriter):
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 8

Errors occasionally occur when saving data using the FlightinfoContext ADO.NET Entity Framework context. Updates to the data are being lost when an
error occurs. You need to ensure that data is still saved when an error occurs by retrying the operation. No more than five retries should be performed.
With which code segment should you replace the body of the SaveChanges() method in the FlightinfoContext.cs file?

Hot Area:
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A | var result = FlightInfo.SqlQuery ("UFPDATE WITH RETRY", FlightInfo, "Ialransient™, 5):
if (rxesult.Count() > 5)
{
resulc.AsNoTracking():
recurn -1;
H
return 0;

B  try
{
return base.SaveChangeas() :
}
catch (EntityCommandExecutionException ex)
i
if (ex.Data.Keys.Cast<int>().Any(x => IaTransient(x)))
{
recurn 5 & SaveChanges():
)
return =1:
}
" C. for (var 4 = 0; 41 < 5; 144)
{
try
{
recurn base,SaveChanges():
}
catch (SglException ekx)
{
if (IsTransient (ex.Number))
{
continue;
}
}
}
return bass. SaveChangsas() :

" D. wvar exception = new EntitySglException():

while (axception.HResult != 0 L& axception.Daca.Count < 5)

{
try
{

WWW.VCE return base.SaveChanges(): ifications

}
catch (EntictySqglException ex)
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Correct Answer:
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A | var result = FlightInfo.SqlQuery ("UFPDATE WITH RETRY", FlightInfo, "Ialransient™, 5):
if (rxesult.Count() > 5)
{
resulc.AsNoTracking():
recurn -1;
H
return 0;

B  try
: return base.SaveChangeas() :
;atch (EnticyCommandExecutionException ex)
{ if (ex.Data.Keys.Cast<int>().Any(x => IaTransient(x)))
{ recurn 5 & SaveChanges():

}
return =1:

}
k’ﬂ. ‘fn: (var 4 = 0; 1 < 5; i+44)
{

try
{
recurn base,SaveChanges():
}
catch (SglException ekx)
{
if (IsTransient (ex.Number))
{
continue;
}
}
}
return bass. SaveChangsas() :

" D. wvar exception = new EntitySglException():
while (axception.HResult != 0 L& axception.Daca.Count < 5)
{
Ty
-i e .
WWW.VCE return base,.SaveChanges(]: ifications

}
catch (EntictySqglException ex)
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Section: (none)
Explanation

Explanation/Reference:
EntitySglException : Represents errors that occur when parsing Entity SQL command text. This exception is thrown when syntactic or semantic rules are

violated.
SqlException : The exception that is thrown when SQL Server returns a warning or error. This class cannot be inherited.
EntityCommandExecutionException : Represents errors that occur when the underlying storage provider could not execute the specified command. This

exception usually wraps a provider-specific exception.

QUESTION 9
You are adding a new REST service endpoint to the FlightDataController controller. It returns flights from the consolidated data sources only for flights
that are late. You need to write a LINQ to Entities query to extract the required data. Which code segment should you use?

Hot Area:
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" A, wvar historical = LoadHistorical():
var query = Context.FlightInfo.AsQueryable ()
.Join (hi=storical, x => x.Flight, y => y.Flight, (x, y) => new { Current = x,
Historical = y })
.Where(x => x.Historical.WazsLate)
«3elect(x => x.Current);

" B. war historical = LoadHistorical():
var query = Context.FlightInfo.AsEnumerable()
.Where(x => historical.All(y => y.WaslLate && x.Flight == y.Flight))
.Select(x => x);

" C. wvar historical = LoadHistorical():
var guery = Context.FlightInfo.AsQueryable ()
Where(x => historical.Select(y => y.Flight).Contain={x.Flight))
.Where (x => historical.Any(y =» y.Wa=sLate)})
Select(x => x):

" D. war historical = LoadHistorical():
var query = Context.FlightInfo.AsEnumerable(}
.Join (historical, x => x.Flight, y => ¥.Flight, (X, y) => new { Current = X,
Historical = y })
«Where(x => X.Historical.WasLate)
.Select (x => x.Current):

Correct Answer:
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" A.| war historical = LoadHistorical():
var query = Context.FlightInfo.AsQueryable ()
«Join{historical, x => x.Flight, y => y.Flight, (x, ¥} => new { Current = x,
Historical = y })
.Where (x =»> %x.Historical.WazLate)
Select(x => x.Current):

" B. wvar historical = LoadHistorical():
var query = Context.FlightInfo.AsEnumerable()
.Where(x => historical.All(y => y.WaslLate && x.Flight == y.Flight))
Selecti{x => xX):

¢ C.| war historical = LoadHistorical():
var guery = Context.FlightInfo.AsQueryable ()
.Where(x => historical.Select(y => y.Flight) .Contains(x.Flight))
.Where (x => historical.Any(y =» y.Wa=sLate)})
Select(x => x):

" D.| var historical = LoadHistorical():
var query = Context.FlightInfo.AsEnumerable ()
.Join(historical, x => x.Flight, yv => y.Flight, (x, y) => new { Current = X,
Historical = y })
+Where(x => x.Historical.WaslLate)
.Select (x =»> %.Current):

Section: (none)
Explanation

Explanation/Reference:

D is right because you send result as REST so if you use “AsQueryable” the result is deferred to the next enumeration of your result.
D is not optimized but will works.

A will break at runtime.
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Credits to Rem

QUESTION 10
DRAG DROP

You need to parse flight information from Blue Yonder Airlines. The content of the XML file is shown below.

[
m

<?xml versipn="1.0" encoding="utf-8"?2>
AT ) i
<Flight zmins="urn:CFI" name="ASS515">
Seats>lZ23</S5eats)>
<Arrival>5/2/2011 12:01:13<¢/Arrival>
</Flight>
<Flight name="UN24">
<Seats>123</5eats>
<Arrival>5/1/2012 10:17:57 PM +02:00</Arrival>
</Flight>
<FlightManifest>

</FlightManifest>

Some airlines do not specify the timezone of the arrival time. If the timezone is not specified, then it should be interpreted per the business requirements.
You need to implement the LoadFlights() and Parse() methods of the BlueYonderLoader class. What should you do? (To answer, drag the appropriate

code segments to the correct location in the answer area. Each segment may be used once, more than once, or not at all. You may need to drag the
split bar between panes or scroll to view content.)

Select and Place:
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var flights = fead Elamants |
feed.Root.GecPrefixCifNamespace ("{urn:CFI}"™) + "Flight"):

var flights = feed.Descendants(] .Whereix =>
Xx:NHogdelype !'= XmlNodelype.XmlDeclaration && ([(atring)x ==
"Flight™):

var flights = feed.Descendants ("{urn:CEI}Flight™)
Concat (feed.Deascendants ("EF1lighte™) ) ;

fi.Arrival = Datelimelffaer . Parse (arrivalRaw,
null, System.Globalization.DateTimeStyles.hssumeUniversal) ;

-fx.hzzl?nl = DateTimeOffser . Parse(arrivalRaw,
null, System.Globalization.DateTimeStyles.RdjustToUniversal):

fi.Arrival = XmlConvert.ToDateTimeOfIset (arrivalRaw,
newl] {1 "Local®™; “Universal™ }):

fEErrthHH
public IEnumsrablecFlightInfod> LoadFlights (XDocumsnt feed)
{
recurn flights.Select(x => Parse(x));
}

private FlightInfo Parse(XElemsnt flightElement)
{
var £4 = ney FlightInfol):
fi.Flight = flightElemant.Atcribuce ("nams"™) . Valus;

i = ement. "Arrival") .V J . L
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Correct Answer:
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var flights = fead Elamants |
feed.Root.GecPrefixCifNamespace ("{urn:CFI}"™) + "Flight"):

var flights = feed.Descendants(] .Whereix =>
Xx:NHogdelype !'= XmlNodelype.XmlDeclaration && ([(atring)x ==
"Flight™):

-fx.hzzl?nl = DateTimeOffser . Parse(arrivalRaw,
null, System.Globalization.DateTimeStyles.RdjustToUniversal):

fi.Arrival = XmlConvert.ToDateTimeOfIset (arrivalRaw,
newl] {1 "Local®™; “Universal™ }):

public IEnumsrablecFlightInfod> LoadFlights (XDocumsnt feed)
{

var ILlights = feed.Descendants("{urn:CFIIFlight™)
.Concat ({feed.Descendanta ("Flight™));

recurn flights.Select(x => Parse(x));:

private FlightInfo Parse(XElemsnt flightElement)
{

var £4 = ney FlightInfol):

fi.Flight = flightElemant.Atcribuce ("nams"™) . Valus;

var arrivalRaw = flightElement.Element ("Arrival").Value;

www.vceplus.com - Downlc
fi Arrival = DatelTimeOffsec.Parse (arrivalRaw,
null, System.Globalization.DateTimeStyles.AssumeaUniversal);

A VCEPIlus
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 11
DRAG DROP

Historical flight information data will be stored in Windows Azure Table Storage using the Flightinfo class as the table entity. There are millions of entries
in the table. Queries for historical flight information specify a set of airlines to search and whether the query should return only late flights. Results should
be ordered by flight name. You need to specify which properties of the Flightinfo class should be used at the partition and row keys to ensure that query
results are returned as quickly as possible. What should you do? (To answer, drag the appropriate properties to the correct location or locations in the
answer area. Each property may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view
content.)

Select and Place:

Answer Area

Airline

Use the property as the partition key,
WaslLate
Flight Use the property as the row key,
Arrival

Correct Answer:
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Answer Area

Use the aAirline property as the partition key,
WaslLate

Use the Flight property as the row key,

Arrival

Section: (none)
Explanation

Explanation/Reference:

QUESTION 12

Flight information data provided by Margie’s Travel is updated both locally and remotely. When the data is synced, all changes need to be merged
together without causing any data loss or corruption. You need to implement the Sync() method in the MargiesTravelSync.es file. What should you do?
(To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may be used once, more
than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

Select and Place:
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Answer Area

XmlBeadMode .DiffGram public woid Synci)
{
XmlReadMode.Fragment var sendStream = SendStream():;
var receiveStream = ReceiveStream():

leadMode .. InferSchema var local = LoadLocal():

XmiWriteMode .DiffGram

- local.WriteXml (sendStream, )
i
imlWriteMode.Igr i -
s DS L OR0 EESCEENN ’; local.ReadXml (receiveStream,
B

Correct Answer:

Answer Area

public void Sync{)

{
XmlReadMode.Fragment var sendStream = SendStream():;
var receiveStream = FeceiveStream();
¥mlBeadMode.InferSchema var local = LoadLocal():
- local.WriteXml (sendStream, AmlWriteMode.DiffGram )
XmlWriteMode.IgnoreSchema ;; local.ReadXml (receiveStream, XmlReadMode . DiffGram
B

Section: (none)
Explanation

Explanation/Reference:
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QUESTION 13

Flight Information Consolidation

Technical Requirements

The assemblies use a common set of dependencies. The current version of the Trey Research assemblies is 1.2.0.0. All assemblies provided by Trey
Research are signed with a key pair contained in a file named Trey.snk, which Trey Research also supplies.

The assemblies provided by Trey Research must be merged into a single assembly. You need to merge the assemblies provided by Trey Research and
meet the application specification. What should you do?

A. Use the ILMerge.exe tool to merge the Trey Research assemblies without stipulating a key pair.
B. In the post-build event, use the Assembly Linker (al.exe) tool to sign the application’s primary output assembly with the Trey.snk key pair.

C. Use the sn.exe tool to generate a key pair file named TreyVendor.snk. Use the ILMerge.exe tool to merge the assemblies provided by Trey
Research. Use the Assembly Linker (al.exe) tool to sign the application’s primary output assembly with the TreyVendor.snk key pair.

D. Use the ILMerge.exe tool to merge the assemblies provided by Trey Research, and then stipulate the output must be signed with the Trey.snk key
pair.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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Case 2

QUESTION 1
Case Study: 2

Scenario 2

Background

You are developing an ASP.NET MVC application in Visual Studio 2012 that will be used to process orders.
Business Requirements

The application contains the following three pages.

- A page that queries an external database for orders that are ready to be processed. The user can then process the order.
- A page to view processed orders.

- A page to view vendor information.

The application consumes three WCF services to retrieve external data.

Technical Requirements

Visual Studio Solution:

The solution contains the following four projects.

- ExternalQueue: A WCF service project used to communicate with the external order database.

- OrderProcessor: An ASP.NET MVC project used for order processing and logging order metadata.

- OrderUpload: A WCF service project used to submit order data to an external data source.

- Shipping: A WCF service project used to acquire shipping information.

ExternalQueue Project:

Entity Framework is used for data access. The entities are defined in the ExternalOrders.edmx file as shown in the following diagram.

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online - IT Certifications



A VCEPlus

4 InboundQueue (%
|4 QueueDetan (=

= Properties

¢il CrderNum = Properties
F Vendorld il CrderNum
# FilePath 1 0.1 F Productld
| M OrderValue & ProductDescripti...

. = ;
| = Navigation Properties Mavigation Properties

v2l QueueDetail v InboundQueue

The project contains two services defined in the following files.
- |IExternalQueueService.cs
- ExternalQueueService.svc.

The ExternalQueue.Helpers namespace contains a definition for a class named OrderNotFound Exception.

OrderProcessor Project:

Entity Framework is used for data access. The entities are defined in the ProcessedOrders.edmx file as shown in the following diagram.

%y ProccessedOrder 2

%; Vendor Al | = Properties
: Wil 1d
= Properties | F OrderNum
W ld | F ProcessedDateTi...
F Name | 1 ) F Value
=l Navigation Properties | & VendorlD
¥ ProccessedOrders = Navigation Properties
l -rn:-‘ Vendor
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The classes are contained in the OrderProcessor.Entities namespace. The project contains the following two controllers.
- InboundQueueController.cs
- ProcessedOrderController.cs

WCF service proxies to the ExternalQueue, Shipping and OrderUpload services have been generated by using the command prompt. The
ExecuteCommandProcedure() method in the ExternalQueueService.svc file must run asynchronously.

The ProcessedOrderController controller has the following requirements.

The GetVendorPolicy() method must enforce a 10 minute absolute cache expiration policy.

The GetProcessedOrders() method must return a view of the 10 most recently processed orders.
OrderUpload Project:

The project contains two services defined in the following files.

- IlUploadCallbackService.cs

- UploadCallbackService.svc

Data Access is maintained in a file named UploadOrder.es.

Shipping Project:

Entity Framework is used for data access. The entities are defined in the ExternalOrders.edmx file as shown in the following diagram.
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#: ShippingAddress 2
= Properties #y State &)
Wil Vendorld !
|| Address S Era |
1 City b  Jf Stateld
FZip 1] P StateName
M Stateld = Navigation Properties |
=l Navigation Properties =l ShippingAddresses

=
y:-l State

The Custom Tool property for ExternalOrders.edmx has been removed. POCO classes for the Entity Model are located in the ShippingAddress.cs file.
The POCO entity must be loaded by using lazy loading. The project contains two services defined in the following files.

- IShippingService.cs

- ShippingService.svc.

The IShippingService contract must contain an operation that receives an order number as a parameter. The operation must return a class named
Shippinglnfo that inherits from a class named State.

Application Structure
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ExternalQueue\lExternalQueueService.cs

1001
1002
1003
1004
1005
IQ06
1007
1008
1009
1Q10
1011
1012
1013
1014
1015
1016
1017
1018
I019
1020

using System.Collections,.beneric:
using System.ServiceModel;
using ExternalQueue . Helpers:

namespace ExternalCueue

i
[ServiceContract]
public interface IExternalfusueService
{
[OperationContract]
List<Entities,Inboundfusue®> GetExternalOrders{) :
[FaulcConcract (cypeof (OrderNotFoundException) ) ]
[OperationContract]
volid DeleteExternalOrder (int orderlNum) ;
[OperaticonContract]
Entitises, InboundQueue GetExternalOrder (int orderNum) ;
}
¥

A VCEPlus
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OrderProcessor\IExternalQueueService.svc

EQ01
EQO2
EQD3
EQO04
EQOS
EQOs
EQOQ7
EQoe
EQO9
EQ10
EQ1Y
EQ12
EQ13
EQls
EQis
EQ16
EQ17
EQls
EQ1%
EQz0
EQ21
EQ22
£Q23
EQ24
EQZ25
EQ2s

using System;

using System.Collactions.Generic;
using System.ling;

using System.Data.EntityClient;
using Syscem.Data;

using ExternalQueus.Entities;
using System.Data.Objects:

using ExternalQueue.Helpers;
using System.ServiceModel:

using Syscem.Threading.Tasks;

namespace External{ueue
; public class ExternalQueueService | IExternaiCueusService
{ public List<Entities.Inboundfueued> GetExternalOrders|()
{ Lisc<InboundQueue> gqueusltems = new Lisc<InboundQusue>():
recurn gueuslItems;

r

public void DeleteExternalOrder (int orde=rHum)
{
using (var context = ney ExcernalOrdersEntities())
i
var orders = gontext.InboundQueues.Where(i => i, 0rderNum ==

orderfum) .ToLisc () :

EQ27
EG2e
EQ29
EC30
EQ31
EQ32
EQ33
EQ34
EQ3s
EQ36
EQ37
EQ38
EQ39
EQ40
EQ4l
£Q42
EQ43
EC44
EQ45
EQ45

wTihan

if (orders.Counct() > 0)
{
using (EntictyCommand cmd = new EncityCommand())
i
cmd.CommandText = "ExternalOrdersEntities.usplinboundQuenselelace™;
cmd. CommandType = CommandType.StoredProcedure;
EntityParameter param = pew EntityParameter():
param.Value = grderNum;
param.ParameterName = "grderNam":
cmd, Parameters.hdd (param) :
ExecutelommandProcedure (cmd) ;
}
}
else
{
OrderNotFoundException X = mew OrderFocFouncException():
ex,.0rderfum = grderNum;
ex. . ExceptionMessage = "Order not found...Cannot delete®:

A VCEPIlus
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ExternalQueue‘\ProcessedOrderController.cs

PCO1
PCO2
BCO3
PCO4
BCOS
PCOE&
BCO7
pcos
PCOS
PC10
PC11
PC12
PC13
PC14
PC15
PClE
PC17
PC18
PC1%
PC20
PC21
pcaz
PC23
PC24
PC25
PC2&

PC27

using System;

using System.Collection=.Feneric:
using System.Ling:

u=ing System.Runtime,Caching:
using System.Web.Mve!

using COrderProcessor.Entitcies;
using OrderProcessor . Helpsrs:
using Syscem.Configuration:

namsspace OrderProcessor.Controllers
{
public claas ProceasedOrderController : Controller
{
public ActionResult GatProcessadOrders()
{
using (var context = new ProceasedOrders())
{
Lisc<Entities, Proccessedlrder> orders = ney Lisc{ProccesaedOrder> ()
racurn View(orders):
}
i

privace ObjectCache cache {(get { return MemoryCache.Default: }}

public ActionBesult GetVendors()
{
List<Entities.Vendor> vendors = cache.Get

("vendozrRey™) as List<Entities.Vendor>;

pPczg
PCcC29
PC30
PC31
PC32
PC33
PC34
PC35
PC3&
BC37
PC38
PC3%9
PC40
PC41
PC42

Rl e L S

if (vendors == null)
{
using (var context = new FrocessedOrders())

L |
vendors = context.Vendors.ToList():

}
}

return View(vendors):

}

privace CacheltemFolicy GetVendorPolicy()
{

CachelitemPolicy vendorPolicy = new CacheltemPolicy({):

e e L e T iy, e, eyt e R N e T
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OrderProcessor\InboundQueueController.cs

IC01 using System;

IC0Z using System,Collections,.Generic;
ICO3 using System.Web.Mvec:

IC0O4 using OrderProcessor.Entities:
ICO5 using ExternalQueue.Entities;
IC0€ using Systenm.ServiceModel;

ICO7 using System.Collections;

ICOA using Excernalfusus.Helnpars:

IC09 using OrderFrocessor.Helpers:
IC10 uaing Sysctem.Ling;

IiCi1

IC1Zi namespace OrderProcessor.Controlliers

IC13 {

IC14 public class InboundQueneController : Controller

IC15 {

IC16 public ActionBesult GetQueueltems()

Ic1? {

IC1B IEnumerable<Inboundfueus> inboundOrders = Epumerable.Empty<InboundQueue>();
IC1% recurn View (inboundOrders):;

IC20 }

ICz1

ICZ2 public ActionResult ProcessOrder (int orderNum)

IC23 {

ICZ24 ExternalQueueServiceClient gService = pew ExternalQueueServiceClient():
IC25 InboundQueus externalOrder = gService.GetExternalOrder (orderNum) ;
ICZ6 if (externalOrder ! null)

IC27 {

ICZ28 using (var context = new ProcessedOrders())

IC2a {

IC30 ProccesasedOrder order = new ProccessedOrder ()

IC31 order.COrderfum = externalOrder.OrderNum;

IC32 order.Value = Convert.ToDouble (externalOrder.OrderValue) ;
IC33 order . VendorlID = Convert.ToIntiZ (externalOrder.Vendorid):
IC34 order,ProcessedDateTime = Datelime.Now;

IC3S context,ProccessedOrders.idd (order);

IC36 context.SaveChanges()

IC37 }

IC3g gService.DeleteExternalOrder (orderNum)

ICc3s ¥

IC40 return Redirectlofction("GetQueuelitems™)

IC41 }

IC42

IC43 public ActionResult ViewShippingInfo(int orderNum) - VCE Online - IT Certifications
IC44 {

IC45 ShippingServiceClient shipService = new ShippingServiceClient():
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OrderUploadi\IUploadCallbackService.cs

IU0]1 using System.ServiceModel:

I002

1003 namespace OrderUpload

I004 ¢

1005 [ServiceContract (CallbackContract = typeof (IUploadCallback)) ]
1006 public interface I0ploadCallbackService
1007 {

IUos [OperationContract]

10046 void UploadOrder (int orderNum) :

I010 }

I011

1012 public interface IUploadCallback

1013 i

I014 [CperationContract]

1015 decimal GetOrderValue (int orderBum) :
I01s& }

IU17 }
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OrderUpload\UploadCallbackService.svc

US01 using System.ServiceModel:

Usoz2

U503 namespace OrdexrUpload

Usos ¢

Us05 public class UploadCallbackService : IUpleoadCallbackServi
Us06 {

uso7 public wvoid UploadOrder (int orderNum)
Us08 {

Usos }

Usio }

Usil }

Shipping\IShippingService,cs

1501 using System,.Buntime.Serialization;
1502 using Svatem.ServiceModel;

I503

1504 namespace Shipping

1505 {

1506 public interface IShippingService
I507 {

I508

I50%9 }

I510 %
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Shipping\ShippingAddress.cs

SAOL using System.Collections.Generic;
SAUZ using System.Data.Cbjects;

SAQ3

SA04 namespace Shipping.PFOCO

SA0S {

SEOE public class Shippingiddress

SROT 4

SADS8 public int VendorId { get; ==t }
SADS public =tring Address { get; =etc; }
SARLO public string City { get; set; }

SR11 public int Stateld { get: set;: }

SA12 public string Zip { get; set: }

SAl3 public State State { get; =set: }

SAl4 }

SA15

SAlE public class State

SA17 i

SAl138 public int StatelId { get; set: }

SAl19 public string StateName { get; =setc; }
SRZ0 public List<Shippingidddress> ShippinghAddresses { get; set: }
SEZ1 ki

Sa22 )

A. THIS IS JUST THE CASE STUDY. PICK THIS
B.
C.
D.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
The QueueDetail entity type must inherit from the InboundQueue entity type in the ExternalQueue service project using table-per-type inheritance. You
need to modify the entities in the designer. What should you do? (Each correct answer presents part of the solution. Choose all that apply.)
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Remove the OrderNum property in InboundQueue.
Remove the OrderNum property in QueueDetail.

Set the QueueDetail BaseType to InboundQueue.
Remove the association between the entities.
Right-click the entities and validate the table mapping.
Set the InboundQueue BaseType to QueueDetail.

mmoow2>

Correct Answer: BCDE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 3
The GetVendors() action in the ProcessedOrderController controller is querying the database each time it is run. The GetVendors() action must query
the database only if the cache is null.

You need to add code to the action at line PC33 to cache the data. Which code segment can you use? (Each correct answer presents a complete
solution. Choose all that apply.)

cache.Set(new Cacheltem("vendorKey", vendors), GetVendorPolicy());
cache.Add("vendors", vendors, new CacheltemPolicy());
cache.Add(new Cacheltem("vendorKey", vendors) , GetVendorPolicy());
cache.AddOrGetExisting("vendorKey", context, new CacheltemPolicy());

Cow>»

Correct Answer: AC
Section: (none)
Explanation
Explanation/Reference:
QUESTION 4

You need to modify the ExecuteCommandProcedure() method to meet the technical requirements. Which code segment should you use?

Hot Area:
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oA private @sync Tesk EzecuteCommandProcedore (EnticyCommand command)
{
using (EntityConnecrion connection = new EnticyConmection
("name=ExternalCrdersEncicies™))
{
command.Connection = connection;
await connection.Openfsync() :
await command.ExecuteNonQueryRAsync():
}

™ B | private void ExecuteCommandProcedure (EntityCommand command)
{
using (EntityConnsction connection = new EnticyConnection
("name=ExternalCrdersEncicies™))
{
command.Connection = connection;
command.ExecuteNonQueryAsync () ;
}

" C.  private void ExecuteCommandProcedure (EntityCommand command)
{
using (EnctictyConnection connaction = new EnticyConnectcion
("name=ExtarnalOrdersEntitisa™))
{
command.Connection = conneccion:
connection.OpenfAsync() :
command.ExecuteNonQueryAsync()
}

D, | private async Task ExecuteCommandProcedure (EntityCommand command)
{
using (EncicyConnection connection = new EnticyConnection
("name=ExternalOrdersEntities™))
{
command.Connection = gonnsaction:
connection.OpenAsynec () 2
command . ExecuteNonCueryAsync() 7
}
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Correct Answer:
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Ir'iﬁé | private @sync Tesk EzecuteCommandProcedore (EnticyCommand command)
{
using (EntityConnecrion connection = new EnticyConmection
("name=ExternalCrdersEncicies™))
{
command.Connection = connection;
await connection.Openfsync() :
await command.ExecuteNonQueryRAsync():
}

™ B | private void ExecuteCommandProcedure (EntityCommand command)
{
using (EntityConnsction connection = new EnticyConnection
("name=ExternalCrdersEncicies™))
{
command.Connection = connection;
command.ExecuteNonQueryAsync () ;
}

" C.  private void ExecuteCommandProcedure (EntityCommand command)
{
using (EnctictyConnection connaction = new EnticyConnectcion
("name=ExtarnalOrdersEntitisa™))
{
command.Connection = conneccion:
connection.OpenfAsync() :
command.ExecuteNonQueryAsync()
}

D, | private async Task ExecuteCommandProcedure (EntityCommand command)
{
using (EncicyConnection connection = new EnticyConnection
("name=ExternalOrdersEntities™))
{
command.Connection = gonnsaction:
connection.OpenAsynec () 2
command . ExecuteNonCueryAsync() 7
}
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 5

DRAG DROP

You need to create the ShippingContext class in the ShippingAddress.cs file to meet the requirements. What should you do? (To answer, drag the
appropriate code segments to the correct location or locations in the answer area. Each code segment may be used once, more than once, or not at all.

You may need to drag the split bar between panes or scroll to view content.)

Select and Place:
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Answer Area

ObjectSet public =las=s ShippingContext
ectContext 3
public ShippingContext ()
OCbiectReault A = = ;
: base ("name=ShippinghddressEntities™)
LazyloadingEnabled = true; {

LazyloadingEnabled = false:

sEnEIERERIEENEE

thia.ContextOptions.

}

public

A VCEPlus

«3hippingAddresss> Shippinghddresses

{

get { return Create0bjectSet<ShippinghAddre=za>{): }
¥
public <Sta
i

get { return CreateObjectSet<State>(): }

Correct Answer:
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Answer Area

public class ShippingContext : DECLLONT8&XL

public ShippingContext()

: base{"name=ShippingAddressEntities™)

LazyLoadingEnabled = true; {
this.ContextOptions LazyvLoadingEnabled = true;
LazyloadingEnabled = false: | =
g8 public Phjectist <Snippingaddress> ShippingAddresses
get { return CreateObjectSet<Shippingiddress>(): }
}
public | YRIRCESET <State> States
get { return CreateObjectSet<State>({}: }

Section: (none)
Explanation

Explanation/Reference:

QUESTION 6

DRAG DROP

You add a class hamed ShippinglInfo. You need to modify the IShippingService interface and the Shippinginfo class to meet the technical requirements.

What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may
be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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Select and Place:

Answer Area

| DataMember ]
collectionDataContract] public interface IShiprings eryvice

{
DataCant o

3 fo GecShippinglnfo(int ordexrlum) ;
ServiceContract] 5}
L L LR £acL ;;
1 public class State
{

public string Statelame { get; setc: }

public class Shippinginfo : State

{

publiec string Streethddre=ss { get: sec: }

¥

public string ZipCode { get; setC; }

Correct Answer:
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Answer Area

{DataMember]) ServiceContract]
[CollectionDataContract] public interface IShippingService

1: ] . B - "
IDataContract ] _.:_'-‘_';-\j .a._'..';__..l._ln_i_u_

1fo GetShippinglnfo (int orderiNum) :
LWt Lo + v 2 Ll E = --r
1 public class State
{
| Dataember

public string Sctacelame { get; set: }

public class Shippinginfo : State

{

Memhart

{lat ]

public atring Sctreafiddress { get: =etC!

1
¥

[DataMenber]

public string ZipCode { get; serC;

Section: (none)
Explanation

Explanation/Reference:

QUESTION 7
DRAG DROP

The GetQueueltems() action in the InboundQueueController controller is not populating the view with data. The action must populate the view with data
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by calling the GetExternalOrders() method in the ExternalQueueService service using the ChannelFactory class. You need to modify the action to
populate the view with data. What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer
area. Each code segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

Select and Place:

Answer Area

IExternaiQueueService “hannelFactarve > gFactory =
BEinding new ChannelFacroriy >
GetExternalOrders ey (1,

CreateChannel
neyw Endpointiddress

[
"heep://localhosat: 62965 /ExternalQuesnaSaryics . avc™) ) »

IERC&T] : aSa ry qs.er!_rl.:e =

gFactory. ():

rabled > inboundOrders =
gService.GetExternalOrders() =

return View(inboundOrders) ;

Correct Answer:
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Answer Area

IFxternaltueuneServic - " FyrernalluenseSerrise

IEXKT BiUUEUueyEIV1ICE hannelFactaorvd AL I N L GUE U 0T W1LT s q’:"ﬂctc‘:‘;=
Ba=zicHtt pBinding naw annelFactorye IExternaiQueusService >
GetExternalOrders new BasicHcepBinding ()},

CreateChannel
neyw Endpointiddress

[
"heep://localhoat: 62965 /ExternalQusnaSarvice. . ave™) ) !

gService =

Createlhannel ()

IFnumerablee¢ LRDOUNdQueue > inboundOrders =
gService.GetExternalOrders() =
return View(inboundOrders) ;

Section: (none)
Explanation

Explanation/Reference:

QUESTION 8
DRAG DROP

The GetVendorPolicy() private method in the ProcessedOrderController controller is returning a CacheltemPolicy object with default values. The

returned policy must expire if the external file located at
C:\Triggers\VendorTrigger.txt has been modified or the timeout outlined in the technical requirements is reached. You need to return the policy. How
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should you build the method? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code
segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

Select and Place:

Priority
ChangeMonitors
AbhsoluteExpiration
Expiracion

Datelime . AddMinutes

DateTime . Now.AddMinutes

Correct Answer:

Answer Area
private CacheltemPolicy GetVendorPolicyi(]

¢ wandorPolicy = new icheItemPolicy ()2

vendorPolicy.

vendorPolicy.

LAadd (new HostFileChangeMonitor (GetIriggerPaths())):

return vendorPolicy:
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Priority

Expiracion

DaceTime .hddMinutes

Section: (none)
Explanation

Explanation/Reference:

QUESTION 9
DRAG DROP

A VCEPlus

Answer Area
helTtemPolicy GetVendorPolicyi)

¢ wandorPolicy = new scheIteamPolicy() 2
vendorPolicy. fbS0luteExpiration

= DateTime Now., RddMinidtes (10) ;

o ChangeMonitors
vendorPolicy. = g

~add [new HostFileChangeMonitor (betlriggerPathz())):

return vendorPolicy:

You need to complete the GetProcessedOrders() action in the ProcessedOrderController controller to meet the requirements. What should you do? (To
answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

Select and Place:
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OrderByDescending
OrderBy

Take
ProcessedOrders

ProcessedDateTime

Correct Answer:

Answer Area

public ActicnBesult GetProcessedOrders()

using (var context = new ProcesssdOrders{))

List<Entitiesa.Proccessedlrder®» arders =
context
. (i =>
(10)

ToList();
return View(orders) ;
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Answer Area

public ActicnBesult GetProcessedOrders()
OrderBy L_:s;:".-q (var context = new ProcessadOrders{))
List<Entitiesa.Proccessedlrder®» arders =
context

Proces=edOrders

ODrderByDescendi ng T FrocassedDacaTims .

ilaKke (10)

ToLisc ()
return View(orders) ;

Section: (none)
Explanation

Explanation/Reference:

QUESTION 10

DRAG DROP

The GetExternalOrders() method must use members of the EntityClient namespace to query the database for all records in the InboundQueue entity.
You need to modify the GetExternalOrders() method to return the correct data. What should you do? (To answer, drag the appropriate code segments to
the correct location or locations in the answer area. Each code segment may be used once, more than once, or not at all. You may need to drag the split

bar between panes or scroll to view content.)

Select and Place:
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ExecuteScalar
Sequentialliccess
KayInfo
ExternalOzrders fi

ExternalOrdersEntities
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EEEEE e

Answer Area

publie¢ List<Entities.InboundQueue> GetExternalOrders()
{
EntityConnectis connection =
new Cntitylonnection | "nannes= L

connection.Open();

EntityCommand cmd = connection.CregteCommand {):

cmd.CommandText = @"select g.0OrderNum, g.VendorId,
g.FilePath, g.0rderValue

from LAnboundfuesaes g8 g i
EntityDavaReader zdr =
cmd . (CommandSehavior
LIsStl cundQueued> gqueneltems = new List<inboundCuoeus>():
while (rdr.Read ()]
4
InboundOueue gquegsItem = neay InboundQusus():

gquegeltem.OrderNum = Convert.Tolnt32 (rdr{"OrderNum™])
gueueltem.Vendorld = nvert.foInt3Z (rdr["VendorId™]):
queneltem.FileFath = IdIr"F:;EPaEh"I.TDStILHQI],
queueltem.OrderValue ert.ToDecimal (rdr["OrderValue™])
gqueusItams . Add (quegaItem) :

’

rdr.Close
connection.Cloze
return queueltems:

():
{):
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ExecuteReader
ExecuteScalar
Sequentialliccess

KayInfo

ExternalOzrders ii

ExternalOrdersEntities

A VCEPIlus

EEEEE e

Answer Area

publie¢ List<Entities.InboundQueue> GetExternalOrders()
{
EnticyConnectis connection =
new EntityConnection("name= EXTErnalOrdersEntities ..

connection.Opent):

EntityCommand cmd = connection.CregteCommand {):

cmd.CommandText = @"select g.0OrderNum, g.VendorId,
g.FilePath, g.0OrderValue

T —— = e g
trom EXxternalOrdersEantitiss . InboundOusaes &5 g":

EntitylataReader rdr =
= L3

s Executeleader {CommandBehavior. Seguentizlicceas
List<InboundCuesue> gqueuneltems = new List<InboundCuoeue>():
while (rdr.Read ()]
4

InboundOueue gquegsItem = neay InboundQusus():

gqueneltem.OrderNum = Convert.ToInt32 (rdr{"OrderNum™])

queneltem.Vendorld = Convert.TlolInt32 (rdr["VendozId™]):

gueneltem.FilePath = rdr["FilePath"].ToStringl():

queneIten.O0rderValue = Convert.ToDecimal (rdr ["OrderValue™])
gqueusIctems , Add (queusItem) :

H

rdr.Close (¥:

connection.Close {):

return gqueusaltems:
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Section: (none)
Explanation

Explanation/Reference:
QUESTION 11
The GetExternalOrder() method in the ExternalQueueService service is throwing a runtime error. The method must query the database for a record that

matches the orderNum parameter passed to the method.

You need to modify the queryString string to retrieve the record. With which code segment should you replace line EQ64?

Hot Area:
A string gueryString = B"SELECT VALUE g FROM ExternalOrdersEncities.InboundQu=uss AS g
WHERE g.OrderNum = @orderNum™;

" B. string guerysString

= G"SELECT VALUE * FROM ExternalOrdersEntities.InboundQueues
WHERE OrderNum = @ord

m, g.VendorId, g.FilePath, g.OrdervValue

" C. | string queryString = B
E E g.Orderllum = gorderNam™:

FROM ExternalCrdersEntities AS g WH

. - 3 e e e n] —_ _ - 3 - -__a I
D string gueryString = E"SELECTI g FROM ExternelOrdersEntities.InboundQueues
WHERE g.OzrderNum = BorderNum™:

Correct Answer:
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A string qusrySctring = @"SELECT VALUE g FRCM ExternalOrdersEncities.InboundQueuss AS g
WHERE q.OrderNum = @GorderNum";

B string queryString = G"SELECT VALUE * FROM ExternalOrdersEntities.InboundQueues
WHERE OrderNum = L &

Y string queryString = B"SELECT g.Orderfum, g.Vendorld, g.FileFath, g.OrderValue
FROM ExternalCrdersEntities AS g WHERE g.Orderlum = BorderNum™;:

3 iz ¥ iy = B"SELECT g FROM E rnal0rdersEntiti « InbouondQu =
D strin jeryString = E"SELECT g FROM ExternelOrdersEntities. InboundQueues
WHERE g.OzrderNum = BorderBNuam™:

Section: (none)
Explanation

Explanation/Reference:

QUESTION 12
DRAG DROP

You need to modify the ExecuteCommandProcedure() method to meet the technical requirements. Which code segment should you use?

Select and Place:
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Answer Area
private async Task ExecuteCommandProcedure (EntityCommand command)

await connection.Openhsync():;
{

await command.ExecuteNonQueryisync(): using (EntityConnection connection
= new EntityConnection ("name=ExternzlOrdersEncitcies™))

connection.Openfsyno () {
command . Connection = connection:

command.Openhsynci{) ;

await command.QuervAsynci):

fitb et

Correct Answer:

Answer Area
private async Task ExecuteCommandProcedure (EntitvCommand command)

{
uming (EntityConnection connection
= new EntityConnection("name=ExternalOrdersEncities™))
connection.Openfsync () {
command.Connection = connectcion:
command.Openhsync () ;
awalt connection.OpenAsync().

await command.QuervAsync():
await command.ExecuteNonQueryAsync():

fA bt

Section: (none)
Explanation
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Explanation/Reference:
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You are developing an ASP.NET MVC application that reads and writes data from a SQL Server database. You need to maintain data integrity in all
situations that use transactions.

ReadUncommitted
Repeatable
Serializable
ReadCommitted

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

SQL Server Isolation Levels
(http://Imsdn.microsoft.com/en-us/library/ms189122(v=sql.105).aspx)
(http://msdn.microsoft.com/en-us/library/ms173763.aspx)

QUESTION 2

You are developing an ASP.NET MVC application. Deployment administrators do not have access to Visual Studio 2012, but will have the elevated
permissions required to deploy the application to the servers. You need to select a deployment tool for use by the deployment administrators. Which tool
should you use?

Publish Web Site Tool

Web Deployment Package
One-Click Publish
Deployment Package Editor

Cow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
QUESTION 3
You are developing an ASP.NET MVC application. The application is an order processing system that uses the ADO.NET Entity Framework against a

SQL Server database. It has a controller that loads a page that displays all orders along with customer information. Lazy loading has been disabled. The
Order class is shown below.
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public partisal class Order

public string CustomerID { gec: =ec: }

R

public virtual

-ustomer Customer { get:; 3et; }

1

A VCEPlus

You need to return the orders and customer information in a single round trip to the database. Which code segment should you use?

Hot Area:

i A

" B

] o4

" D.

ICueryvabhle<irder> orders = db.0Orders:
orders = grders.Include("Customexr™) :
return View(order=s.TolList()):

public ActionResult Index()

TOueryvable<Order> orders = db.0rders.Include ("Order.Customer™) :

return View(orders.ToList()):

public ActionBesult Index()
Igueryvable<Order> orders = db,0rders;
orders.Select{o => o.Customer) .Load():

return View(orders.TolList()):

public AcoctionBesult Index ()

I0uveryable<Drder>» orders = db.0Orders;
return View({orders.ToList()):
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Correct Answer:
A public ActionResult Index ()
IQueryvable<Order> orders = db.Orders:

orders = prder=.Include ("Custom=zr"):
return View(orders=s.TolList()):

(" B! public ActionResult Index ()

return View(orders.ToList()):

IQueryvable<0rder®> orders = dh.0Orders.Include ("Order.Customer™)

" C. publiec ActionBesult Index ()
ICueryable<Order> orders = db,0Orders:
orders.Select (o =*> o.Customer).Load() :
return View(orders.TolList()):

D public ActionResult Index ()

& ryable<Drder?® orders = db.Orders;
return View{orders_.ToList ()):

Section: (none)
Explanation

Explanation/Reference:
QUESTION 4
You are developing an ASP.NET MVC application that reads and writes data from a SQL Server database. You need to prevent the application from

reading data that is locked by other transactions. You also need to prevent exclusive range locks. Which isolation level should you use?

A. ReadCommitted
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B. Serializable
C. Repeatable
D. ReadUncommitted

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

SQL Server Isolation Levels
(http://msdn.microsoft.com/en-us/library/ms189122(v=sql.105).aspx)
(http://msdn.microsoft.com/en-us/library/ms173763.aspx)

QUESTION 5

You are developing a library to support multiple ASP.NET MVC web applications on a shared server. The library provides implementations of security
algorithms. If a problem with any of the security algorithms is discovered, a new version of the library must be created and deployed. Application
downtime during the update must be minimized. You need to ensure that the new version of the library will be used by all applications as soon as
possible. What should you do?

A. Build the web applications and include the security assembly as an embedded resource.
When an update is needed, copy the new assembly to the bin directory for the application.

B. Sign all assemblies in each application with the same key used to sign the security assembly.
When an update is needed, create a new key pair and re-sign all assemblies.

C. Build the security assembly as a netmodule in a shared location.
Use the assembly linker to merge the netmodule into the assemblies for the application.
When an update is needed, update the netmodule in the shared location.

D. Install the security assembly in the Global Assembly Cache (GAC).
When an update is needed, update the assembly in the GAC.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 6

You are developing an ASP.NET MVC Web API application.
The application must meet the following requirements :

= It must sent or receive image data without the use of a buffer.
= It must allow up to 1 MB of data to be received.

= It must allow up to 2 MB of data to be sent.
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You need to complete the code to meet the requirements. What should you do? continuous

Select and Place:

config

Server

MazxBufferSize
MaxBeceivedMes=zagasSize
MaxConcurrentReguests
Streamed

Bufferad

Correct Answer:

BISERRRGESERNIGE

Answer Area

clas=s Prco

i

B L E LR L

JIAT

private static string basefddreas = "http://localhost:8080/7;

static void Main(string[] arags)
var config = new HttpSelfHostcConfig raticon|{_basehddress);
config.Routes . MapHttpRoute (
name: "DefaultApi®,
routaTemplate: "api/{controller}/{id}",
dafaults: new { id = RouteFarameter.Optional }
¥iz
- = 1024 * 1024 = 2:
A = 10249 * 1024;

lransferMode =

L}

I
ot
Le
I
i
I

L
k
i
"

e

VAL server = new HorpSeliffostServer (config):
server .Opendsync() .Waic () :
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B L E LR L

Answer Area

config &

private static string basefddreas = "http://localhost:8080/7;
Berver o
static void Main(string[] arags)

4
L

MaxBufferSize

var config = new HttpSelfHostConiiguraticn{_ baseRddress):
config.Routes.MapHttpRoute (
name: "DefaultApi®,

MaxConcurrentReguests routeTemplate: "api/{controller}/{id}",

MaxBeceivedMes=zagasSize

defaults: new { id = RouteFarameter.Optional }
Streamed )i
i
Buff d g
RELSERE §E config MaxBuffarSize - 1024 ® 1024 & 2:
cenfig MaxRecaivedessageSizae 1024 * 1024
- = & =37
config .ITransferMode =
SnEre Streamed .
VAL server = new HorpSeliffostServer (config):

server .Opendsync() .Waic () :

Section: (none)
Explanation

Explanation/Reference:

QUESTION 7
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You are developing an ASP.NET MVC Web API application. The method names of the Web APl must match naming guidelines ;or RESTful services.
You need to create methods to support standard insert, select, update and delete operations in an HTTP service. What should you do?

Select and Place:

GET
FOST
INSERT
DELETE
CREATE
READ
UPDATE
ADD

PUT/POST

Correct Answer:

pH e

Answer Area

; HTTP .
Action SRR Relative URI
Retrieve a list of all /api/customers
customers
Retrieve a customer /api/customers/id

by id

Retrieve a customer
by category

/api/customer/?category=category

Create a new /api/customers
customer

Update a customer /api/customers/id
Remove a customer /api/customers/id
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GET
FOST
INSERT
DELETE
CREATE
READ
UPDATE
ADD

PUT/POST

Section: (none)
Explanation

pH e

Explanation/Reference:
Put is a correct answer, however if PUT is missing as an option, POST could also be valid if you consider "id" to be a parameter.

QUESTION 8

Answer Area

3 VCEPlus

: HTTP .
Action SRR Relative URI

Retrieve a list of all e /api/customers
customers
Retrieve a customer GET /api/customers/id
by id
Retrieve a customer | - /api/customer/?category=category
by category
Create a new BOST / api/customers
customer &
Update a customer PUT/POST |/api/customers/id
Remove a customer DELETE |/api/customers/id

You are developing an ASP.NET MVC Web API image management application.
The application must meet the following requirements :
It must sent or receive image data without the use of a buffer.
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= It must allow up to 4 MB of image data to be received.
= It must allow up to 3 MB of image data to be sent.

You need to complete the code to meet the requirements. What should you do?

Select and Place:

config

SEXVer

MaxBufferSize
MaxBEeceivedMessageSize
MazConcurrentBegquests
Streamad

Buffered

Correct Answer:

Answer Area

static void Main(string([] args)
var config = new HutpSelfHost
config.Routes.MapHttpRoute |(
name: "Defapltipi®,
routeTemplate: "api/{contr

defaults: new { id = Houtszl

i -

.Transferlode =

Vvar server = new HtitpSslTHostSe

server .Openfsync () .Wait () :

A VCEPlus

private static string basefddress = "http://localhost:2080/";

Configuration(_ baselddress):;

oller}/iid}"™,

mecer.Optional }

=-1024 % 1024 * .5;
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Answer Area

config =

class Frogra
it private static string basefddress = "http://localhost:2080/";
MaxBufferSizs

static void Main(string([] args)

e

MaxBEeceivedMessageSize

var config = new HtrtpSelfHostConfiguration( baseAddress):;
i config.Routes.MapHttpRoute |(
MaxConcurrentBequests name: "Defapltipi®,
routeTemplace: "api/{controller}/iid}"™,
Streamad defaults: new { id = BputeParamecer.0Opticnal }
)i

Buifered

coniig _ MaxBufferSize T T T TR

config MaxReceivedMessageSize Y

" = 10 1] 5
eanfig

.Transferlode =

Streamed

Var Server = new HttpSelfHostierver{coniig):
server .Openfsync () .Wait () :

Section: (none)
Explanation

Explanation/Reference:

QUESTION 9
You are developing an ASP.NET Web API action method.
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The action method must return the following JSON in the message body.
{"Name":"Fabrikam", "Vendor Id": 9823, "ltems": ["Apples", "Oranges"]}
You need to return an anonymous object that is serialized to JSON.

What should you do?

Select and Place:

PFabrikam", VendorHumber = G823,
PFabrikam”, VendorHumber = "S8823", {

new Liast<string> { "Apples™, "Oranges™

new List<string> { "Arples, Oranges™ } Name =
i
regurn new Listc<scring> i Icems =
}:
return new }

Correct Answer:

Ennmnmiinm

Answer Area

public abject Gec()

PFabrikam”, VendorHumber = "S8823", {
IELUrn new
{
i " s A i Eliame = = OaT9
new List<strimg> { "Apples, Oranges"™ } Name = Fabrikam r vendorNumber AR
"
return ney Listc<string® Items = new List<string> { "Applea", "Qranges" )}
};
}

Section: (none)
Explanation
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Explanation/Reference:

QUESTION 10

You are developing an ASP.NET Web API action method.

The action method must return the following JSON in the message body.
{"Name":"Fabrikam", "Vendor Id": 9823, "ltems": ["Dogs", "Cats"]}
You need to return an anonymous object that is serialized to JSON.
What should you do?

Select and Place:

Answer Area

i} =3 % Li] T 4 = Bl T +» = OB873 E &
Fabrikam", VendorBHumber 9823, public cbject Get()

i

"Fabrikam™, VendorHumber = "8833%

new List<string> { "Dogs", "Cats=" }|li {
= Name =

new List<string> { "Dogs, Catcs"™ :
Ei Items =

return new List<string> iz 3 =

recurn new

Correct Answer:
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"Fabrikam™, VendorHumber = "8833% return new
{ e = 1 " T BT, 1 > = O30
i Mo o Fabrikam™, VendorNumber = 85823,
new List<string> { "Dogs, Catcs"™ ﬁ _ . e = — ey
_ ﬁ Items = new SLL3TIing> 4 “ogat, =ALE i
return new List<string> & }:

Section: (none)
Explanation

Explanation/Reference:

QUESTION 11
You are designing an ASP.NET Web API application. You need to select an HTTP verb to allow blog administrators to moderate a comment. Which
HTTP verb should you use?

GET
POST
DELETE
PUT

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 12
You are designing an ASP.NET Web API application. You need to select an HTTP verb to allow blog administrators to remove a comment. Which HTTP
verb should you use?
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PUT
DELETE
POST
GET

Cow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 13

You are developing an ASP.NET MVC application. Applications can be deployed to remote servers only by administrators who have elevated privileges.
The administrators do not have access to Visual Studio 2012. You need to select a deployment tool to deploy the application to remote servers for
testing. Which tool should you use?

Copy Web Site Tool
One-Click Publish

Publish Web Site Tool
Web Deployment Package

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 14
You develop an ASP.NET MVC application that is secured by using SSL. You are ready to deploy the application to production. The deployment

package must include the installation of the SSL certificate. You need to configure the deployment package to meet the requirement. What should you
do?

Create a web publish pipeline target file with a custom web deploy target.

In the Package/Publish settings of the project, select the All Files in this project option.

Extend the CopyAllFilesToSingleFolder target in the project file.

In the Build Events settings of the project, configure a pre-build event to include the SSL certificate.

Cow>»
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 15

You are developing an ASP.NET Web API application for currency conversion that will be consumed by a web browser by using a composite application
that is served from another web domain. You need to configure the Web API. What should your do? (To answer, drag the appropriate XML elements to
the correct location in the answer area. Each XML element may be used once, more than once, or not at all. You may need to drag the split bar between
panes or scroll to view content.)

Select and Place:

Access-Control-Allow-Origin <httpProtocol
<customfeaders>
Acceas-Control-Allow-Headers <add mame="Arcass-Control-Allow-Origin®

Access-Control-Allow-Methods

Accass-Control-Allow-Reguest-Method

Access-Control-Allow-Request-Headers

R

a4

- <add name="
Contenc-IType

value=" ">
<fcustomtHeadera>
</ httpProtocaol>

Correct Answer:
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I

Answer Area

Access-Control-Allow-Origin <httpProtocols>

<customileaders>

Acceas-Control-Allow-Headers <add mame="Arcass-Control-Allow-Origin®

Access-Control-Allow-Methods

value=" |* i
heocess-Control-Allow-Request-Method [
i
- dd name=" | Ace ~Control-Allow-Method L
Access-Control-Allow-Request-Headers B <add name= SR U ook 99 e WL
L
alue="pPUT, DELETE"/>
POST, GET
= <add name=" Acces3=Control-Allow-Headers "
Contenc-IType
value=" Cantent-Iype ">

Section: (none)
Explanation

Explanation/Reference:

QUESTION 16
You are developing an ASP.NET MVC web application that contains the following HTML.

<table id= "customer" ></table>

You also have an ASP.NET Web API application that contains a call for retrieving customers. You must send and retrieve the data in the most compact
format possible. You need to update the HTML for the customers table to contain data from the Web API application. Which script segment should you
use?
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Hot Area:
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" A <script>
§ (function () |
var Scustomers = §("#customers”);
S.ajax({
url: "api/customers",
dacaType: "json”,
success: functicn (data) {

& §Fw®

H
}):
k)i
</script>

" B <script>
5 (function () |
var Scustomers = 5 ("§fcustomers®):
F.xml({
url: "api/customers®,
dacaType: "ajax",
success: function (daca) |

i oEoE

}
bz
}):
</script>

C C «<secript>
$ (function () {
var Scustomers = & ("#customers®);
S.3mon (!
url: "api/customers®,
dataType: "ajax",
success: function (data) {
}
b2
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Correct Answer:
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A <script>
§ (function () |
var Scustomers = §("#customers”);
S.ajax({
url: "api/customers”,
dacaType: "ison",
success: functicn (data) {

H
}):
k)i
</script>

" B <script>
5 (function () |
var Scustomers = 5 ("§fcustomers®):
F.xml({
url: "api/customers®,
dacaType: "ajax",
success: function (daca) |

i oEoE

}
bz
b2
</script>

C C «<secript>
$ (function () {

var Scustomers = §("#customers®);

S.3mon (!
url: "api/customers®,
dataType: "ajax",
success: functiom {(data) |
}

b2
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Section: (none)
Explanation

Explanation/Reference:
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QUESTION 1

A VCEPlus

You are developing a WCF service. You need to implement transport security by using NTLM authentication and NetTcpBindings. Which configuration

values should you use?

Select and Place:

(43
.
v
[l
]
=
12
E
m
ot
H
1]
o
x

______ inding™
binding="Duplex”
binding="Ntlmicp"
mode="netBindingTocp"

mode="Transport™

mode="Duplex"

[

clispncCre

entialType="netTepBinding™

o

CLLENT

]

redentialType="NclmIcp"

clientCredentialType—"HNt1m"

Correct Answer:

HH e

s

L3ystem.s

BT
Answer Area

rviceModel>»

a2
LproatacolMapning’

<add scheme="httpa"

</protocolMapping®
<hindings>
<waHCtpBinding>
<hinding>

<ISECUrlLy

</security>
</binding>
</waHctpBinding>
</bindings>
¢/system.servicedodel>

/>

I'>»
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
You are developing a WCF service.
instancing mode should you use?

A. Single
B. PerRequest
C. PercCall

A VCEPlus

et Hias i i

Answer Area

<£3ystem. =
<proc

rviceModel>»

olMapping>

=
e

<add scheme="httpa" u | n:‘LL:‘;gE“ﬂEtTﬂpﬂlﬂdiﬁg H >

<waHTLpBinding>
<hinding>

shamnmEIon
[

ype="netTcpBinding” <security mode="Transport"” >

<transport  glieptCredentiglTlvpe="Ntlm" I

</security>»
</binding>
</waHttpBinding>
</bindings>
¢/system.servicedodel>

A new service instance must be created for each client request. You need to choose an instancing mode. Which
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D. Multiple
E. PerSession

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 3

A VCEPlus

You are developing a WCF service requires implementations of the new data contracts to validate against the old schema. You need to develop a new
data contract without breaking current functionality. What should you do?

Select and Place:

Correct Answer:

ot (Validate =

c{id

(Igeptificer =

ihlic class Brofile
™ M 5 - (e - e
(Hame = "Profile J
- (TypelD = "Profile™)] i public string Usermame;
}
1D = "Profile™)]

public glass ProfileV?

string

Usernams

w1
R

e Rl e o

publiic string E
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Answer Area

tract (Validarte = "Frofile")]

[DataConcract (Name = "Deafiia™) )

[(DataContract (Identifier = "Profilie™) ]

ctaContract (Name = "Prpfilah) )

DataContract (TypelID = "Profile")] i public string Usemams;
g
DataContract (1D = "Profile™)])] i
DataCor C{Name = "Profile")
pulilic class ProfileVi
public =string Username;
public =tring Email;
}

Section: (none)
Explanation

Explanation/Reference:

QUESTION 4
You are creating a WCF service. The service endpoints must be exposed to the Windows Azure Service Bus. The service bus has a namespace named
RestaurantSB. The key provider is "owner". You need to modify the web.config file to expose the endpoints. How should you modify the file?

Select and Place:
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Answer Area

issperName <services>
; <service name="RestaurantService.MenuService">
Contract
issuerKey <endpoint ="RestaurantService ., IMenuService"
T E binding="netTcpRelayBinding™
§ address="sb://BestaurantServiceBus,.servicebus.windows .net/Mena"
issusrlecret g hehaviorConfiguration="sbBehavior™/>
<faervice>
</mservices>
<behaviora>»

<endpointBehaviors>
<behavior name="sbBehavior™»
<transportClientEndpointBehavior>
<tokenProvider>
<sheredSecret

=Wowner"”

=1 oAFgNsbaNE8+OINTITE="/>

</tokenProvider>
</transportClientEndpointBehavior>
cfbehavior>
</endpointBshaviora>
</behavicors>

Correct Answer:
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Answer Area

<services>
<service name="HestaurantService.MenuService">

== <endpoint Contract ="RestaurantService.IMenuService"
issgeriey

T binding="netTcpRelayBinding™

addresa="sb://BestaurantServiceBus.servicebus.windows.net/Menu"

<faervice>
</mservices>
<behaviora>»
<endpointBehaviors>
<behavior name="sbBehavior™»
<transportClientEndpointBehavior>
<tokenProvider>
<sheredSecret

iascexrName =M guner”

issuaerSecret =1 oAFgNsbaNE8+OINTITE="/>

</tokenProvider>
</transportClientEndpointBehavior>
cfbehavior>
</endpointBshaviora>
</behavicors>

Section: (none)
Explanation

Explanation/Reference:
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QUESTION 5 VCE P l u S

You are developing a WCF Data Services service in Visual Studio 2012 to display movie information from a SQL Server database that changes every 24
hours. The service is defined in the following class :

pablic clagss MovieService : DatabervicedMovieEntitiesy
public scatic void InitializeService(DataService 1figura 1 config)
config.SetEntitySetficcesshule ("Moviea”, EntitySectRights.AllBead);
config.DataServiceBehavior MazProtocolVersion = DataServiceProtocolVersion.V2:

The application contains the following Entity Framework model.

=

%3 Movie

= Properties
yif Movield
M Name
& Length
F lsinTheaters

= Navigation Properties |

The service must only return data for movies that are currently in theaters. You need to add a method to the MovieService class to filter the data. How
should you build the method?

Select and Place:
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"Movies"

"MovisEnticias®

Expression
g A
e e

Correct Answer:

Tl
HHHH

sganmnn
ELEEETEH

3 VCEPlus

LN

Answer Area

public class MovieService :

{
public static wvoid InitializeService (DataServiceConfiguration config)
{
config.SetEntitySetAccessRule ("Movies", EntitySetRights.AllRead);
config.DataServiceBehavior.MaxProtocolVersion =
DataServiceProtocolVersion. V2,
}
[ ( ) ]
public <Func<Movie, bool>> ApplyTheaterFilter()
{
return movie => movie.IsInTheaters == true;
}
}
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s
Answer Area
e e e e public class MovieService : DataService<MovieEntities
{
public static void InitializeService(DataServiceConfiguration config)
"MovieEntitcies™ {
config.SetEntitySetAccessRule ("Movies", EntitySetRights.AllRead);
——n config.DataServiceBehavior.MaxProtocolVersion =
oz DataServiceProtocolVersion. V2,
i
i }
[ Queryinterceptor ( "Moviea ) 1]
public guprrassisn <Func<Movie, bool>> ApplyTheaterFilter ()
{
return movie => movie.IsInTheaters == true;
}
}

Section: (none)
Explanation

Explanation/Reference:

QUESTION 6
You are developing a self-hosted WCF service that returns stock market information. The service must be discoverable by any client application. You
need to build the service host. How should you build the host?
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Select and Place:

UdpDiscoveryEndpo

DiscoveryEndpoint

Se ceBehavicrAttribute

= ~aTl T raerir=Eah
Discov yBeh

ServiceHost

Correct Answer:

REERNE

A VCEPlus

Answer Area

static void Main(string|[] args)

£

Uri StockURI = new Urzi{"http://localhost:8733/8cockTicker™);

var mytype = typeof (StockTickerService);
using | host
= new {mytype, StockURI))
i
hoat.AddServiceEndpoint [typeof {IiStockTickerService),
new WSHttpBinding (), ™"}:
host .De=scription.Behaviors.Add (new ()):
host .AddServiceEndpoint (new {1}

host .Open{) ;
Conscie . Readline () ;
host .Closa () :

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online - IT Certifications



Answer Area
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End int static void Main(string|[] args)
DiscoveryEndpoint Iri StockURI = new Uri ("hrttp://localhost:8733/5tockIicker™);
var mycype = typeof (StockTickerService);
< iceBehaviorAttribute
= Y e - using {( =erviceHost host
i i i i = new ‘ServiceHost {mytype, SToOCkURI))
host.hddServiceEndpoint {typeof {IStockTickerService),
new WSHrtpBindingl), ""}:

host .Description.Behaviors.Add {new SErvicelizcov

host .AddServiceEndpoint (new

host.Open|() :
2 oie.Readline () ;
host .Closa () :

ons

Section: (none)
Explanation

Explanation/Reference:

QUESTION 7

You are developing a WCF service. The service will stream messages to clients on the internal network. You must use Windows Authentication, and all

messages must be binary encoded. You need to configure the service. What should you do?
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Select and Place:
RTINS

Answer Area

namedNetBinding | <System. serviceModel>

netIcpBinding <blnd1:‘;g3}
bhinHttpsBinding

< >
heepBasicBinding
e - prerr <binding>

i <security />

mode="Transport™ i:
mode="Nirecc" i <fblndlng}

</ >

</bindings>

</system.serviceModel>

Correct Answer:
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Answer Area
namedNetBinding | <Sy3tem.serviceModel>

netTcpBinding <bindings>

hinHttpelinding

< netTcpBindin >
heetpBasicBinding
<binding>

i <security mode="ITransport® | /s

mode="Ignore"

mode="Transport™ i
H

</binding>

mode="Nirectc"

</ netIcpBindin >

</bindings>
</system.serviceModel>

Section: (none)
Explanation

Explanation/Reference:

QUESTION 8
DRAG DROP

The UploadOrder() method in the UploadCallbackService service is not implementing the callback behavior defined in the IUploadCallBackService
interface. You need to modify the class to implement the required callback behavior. What should you do? (To answer, drag the appropriate code
segments to the

correct location or locations in the answer area. Each code segments may be used once, more than once, or not at all. You may need to drag the split
bar between panes or scroll to view content.)
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Multiple [5 BE or (ConcurrencyMode =
Single ConcurrencyMode b1
GetOrderValue

public class UploadCa IUpleadCallibackSer

public void UploadOrder (int orderBum)

i
i
¥
]
ul
al
L

callback = Oparat il

- -

.Current.GetCallbackChannel< >{):

decimal value = gallback. prderNum) ;

OploadDB.Uplioa .Opload{orderNum, wvalue}:

Correct Answer:
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Multiple

GetOrderValue

SEEERALERRRRALEE

Section: (none)
Explanation

Explanation/Reference:

3 VCEPlus

[ aE or (ConcurrencyMode =
ConcurrencyMode Single }1
public class UploadCallbackService 3

public void UploadOrder (int orderBum)
callback = OperationContext

;Current.GetCallbackChannel« =YF2P8CL81L08CK ={);:

I e
decimal value = callback.| GetOrderValue orderNum) ;
|

OploadDB.Uplioa ier .Upload{orderNum, wvalue} :
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You are building an ADO.NET Entity Framework application. You need to validate the conceptual schema definition language (CSDL), store schema
definition language (SSDL), and mapping specification language (MSL) files. Which Entity Data Model tool can you use? (Each correct answer presents
a complete solution.

Choose all that apply.)

EDM Generator (EdmGen.exe)
ADO.NET Entity Data Model Designer
Entity Data Model Wizard

Update Model Wizard

Cow>»

Correct Answer: BC

Section: (none)

Explanation

Explanation/Reference:

QUESTION 2

DRAG DROP

You are developing an ASP.NET Web API action method.

The action method must return the following JSON in the message body.
{" Name ":" Fabrikam", "Vendor Id": 9823, "Items": ['Apples", "Oranges"] }

You need to return an anonymous object that is serialized to JSON.

What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may
be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.
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BEEEEEREERRER A,
arrrmEETrEERdanL

PFabrikam", VendorHumber = 089823,
"Fabrikam", VendorNumber = "9823", {

new List<strimg> { "Apples™, "Oranges™ }

new List<string> { "Apples, QOranges®

[T

return new Lisc<string>

CEturn new }

A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
public cbhiject Gat()

i
Ceturn new

HName = PFabrikam"™, VendorHumber = B823,

Items = new List«<string> { "Apples™, "Oranges™ }

QUESTION 3
DRAG DROP

You are developing an ASP.NET MVC Web API image management application.
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The application must meet the following requirements:

- It must send or receive image data without the use of a buffer.

- It must allow up to 4 MB of image data to be received.

- It must allow up to 3 MB of image data to be sent.

You need to complete the code to meet the requirements. What should you do? (To answer, drag the appropriate code segments to the correct location

or locations in the answer area. Each code segment may be used once, more than once, or not at all. You may need to drag the split bar between panes
or scroll to view content.)
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Answer Area

config =
class Frogram
{
it private static strimg DbaseAddress = "http://localhost:8080/";
BuffarSi [
MaxBufferSize i atatic void Main(string[] args)
MaxReceivedMessageSize i var config = new HttpSelfAostConfiguration( baseAddress);
if config.Routes.MapHttpRoute (
MaxConcurrentReguests name: "Defaultipi®,
routaTemplace: "api/{controliasr}/i{id}",
Streamad defaulcs: new { id = HouteParameatcer.0Optional }
|
Buifered
- = 1024 * 1024 = 3>
. = 1024 * 1024 * 4-
.TransferMode =
var gerver — new HttpSelfHostServer{config):
server.COpenhsync () .Wait () :
A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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clamss

Qao/";

private static string basehddress = "hitp://iocalhost:
atatic void Main(string[] args)

var config = new HucopSeifHostConfig stion(_basehddress);
config.Routes.MapHttpRoute (

" a BRafEs]eRAmd @
name . HelaulTapi®™,

routeTemplate: "api/{controller}/{id}",
defaulcts: new { id = Eout=FParams: Opticnal }
)i
config MaxBufferSize = A
2 % = 1024 * 1024 * 3;
- Taraimrardl =4
config . MaxReceivedMessageSize — A58 * 0S4 & 4
confi -
¥ .TransferMode =
Streamed :
VeI Server — new HttpSelfHostServer{config):
server . .Openhsync () .Wait () :
QUESTION 4

You are developing a library to support multiple ASP.NET MVC web applications on a shared server. The library provides implementations of security
algorithms. If a problem with any of the security algorithms is discovered, a new version of the library must be created and deployed. Application
downtime during the update must be minimized. You need to ensure that the new version of the library will be used by all applications as soon as
possible. What should you do?

A. Build the web applications and include the security assembly as an embedded resource.
When an update is needed, copy the new assembly to the bin directory for the application.

B. Sign all assemblies in each application with the same key used to sign the security assembly.
When an update is needed, create a new key pair and re-sign all assemblies.
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C. Build the security assembly as a netmodule in a shared location.
Use the assembly linker to merge the netmodule into the assemblies for the application.
When an update is needed, update the netmodule in the shared location.

D. Install the security assembly in the Global Assembly Cache (GAC).
When an update is needed, update the assembly in the GAC.

Correct Answer: D
Section: (none)
Explanation
Explanation/Reference:

QUESTION 5
You are developing an application in Visual Studio 2012 to display student information. The application contains the following Entity Framework model.

#y Grade % 4y Student &
#3 Course |
=l Properties = Properties
= Properties oge
P dil FKStudentld Wi Studentld
Wi Courseld = ¥ FKCourselD | M FirstName
# Name F GradeEarned % 1 K LastName
= Navigation Properties = Navigation Properties & Gender
¥ Grades &8 Course = Navigation Properties
¥ Student v Grades

The application contains a WCF data service named DirectoryService.svc. You need to create a query expression to display all of the grades for
students whose first name is "John" How should you build the expression?

http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName eq 'John’ &$expand=Grades
http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName eq 'John’/Grades
http://localhost:54946/DirectoryService.svc/Students?$filter=FirstName = 'John’ &$expand=Grades
http://localhost:54946/DirectoryService.svc/Grades/Students?$filter=FirstName eq 'John’

Cow>

Correct Answer: A
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 6
DRAG DROP

You are developing a self-hosted WCF service that returns stock market information. The service must be discoverable by any client application. You
need to build the service host. How should you build the host? (To answer, drag the appropriate code segments to the correct location or locations in the
answer area. Each code segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view
content.)
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DizcoveryEndpoint
- - A » PR T
Sl icelenaviorATTribute
= — in T P B o = =
EIv1i a ITELYOEna I b
B
1
. o E
SJELCVTICEOO3L i
-

A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

A VCEPlus

Answer Area

Static void Main(string[] args)

a

Uri StockURI = new Uri("http://localhost:8733/StockTicker™):
var mytype = typeof (StockTickerService);
using ( host

= new (mytype, StockURI))

new WSHttpBinding(), ™™):

host.Description.Behaviors.hAdd (new ()):

ho=st . AddServiceEndpoint (new {15

host.Openi)
Consoie Readline() ;
host.Claose() :

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online - IT Certifications



A VCEPlus

static void Main(string|[] args)
Iri StockUBRI = new Uri{"htctp://localhost:8733/StockTicker®)
var mycype = typeof (St kTickersSa 2);
using ( ServiceHost ho=t
= DEw serviceHost {mytype, StockURL))
host . AddServiceEndpoint (cypeof{IStockTickerService),
new WSHTTpBinding(l), ""):
host.Description.Behaviors.Add (new ServiceDiscoveryBehavio: (Y1:

[MiscoveryEndpoint (3

host . AddServiceEndpoint (new L0

host .Openi) ;
console ReadLine () ;
host.Claose() :

QUESTION 7

You are developing a WCF service that compares several data sources. The service takes a long time to complete. The service must meet the following
requirements:

- The client must be able to continue processing while the service is running.

- The service must initiate communication with the client application when processing is complete.

You need to choose a message pattern to meet the requirements. Which message pattern should you choose?

A. One Way
B. Streaming
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C. Duplex
D. Request/Reply

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 8

DRAG DROP

You are developing a WCF service. You need to implement transport security by using NTLM authentication and NetTcpBindings. Which configuration

values should you use? (To answer, drag the appropriate configuration values to the correct location or locations in the answer area. Each configuration
value may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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binding="netTcpBinding®
binding="Duplex"

inding="NtlmTcp"
mode="natBindingTop"
mode="Transport®
mode="Duplex”
clisntCredentialType="netTcpBinding"™
clientCredentialType="NelmIcp"™

clientCredentiallype—="HL1n"

A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

([Fieii]ibeed]] 4

A VCEPlus

prad st

Answer Area

<3ygtem, serviceModel>
<protocolMapping’>

<add schems="https" />

</protocolMapping>
<bindings>
<wsHttpBinding>
thinding>

<seEcurity >
ZLYansport />

</ security>
</binding>
</waHrtpBinding>
</bindings>
¢/syatem.serviceModel>»
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<ayatem,.zerviceModel>

LprotocolMapnping

= T

<zecurity mode="Transport”

<transport ClientCredentiallype="Ntlm"

ricy>
</bi
</weHrtpBinding>
</bindin
L 3'-,'31:-5'3'.‘..5 lLCerMpaes >
QUESTION 9

A VCEPlus

You are developing a WCF service. A new service instance must be created for each client request. You need to choose an instancing mode. Which

instancing mode should you use?

Single
PerRequest
PercCall
Multiple
PerSession

moow?>

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 10
DRAG DROP

You are developing a WCF service. You need to implement transport security by using NTLM authentication and NetTcpBindings. Which configuration
values should you use? (To answer, drag the appropriate configuration values to the correct location or locations in the answer area. Each configuration
value may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

s

Answer Area

binding="netTepBinding"® £2yst

em. serviceModel >

<protocolMapping>
binding="Iransport™
binding="Htln" <add scheme="https" i
mode="natTecpBinding™"

</protocolMapping>
mode="Transport” <bindings>

<wsHttpBinding>
= <binding>
mode="Nt im" =
1{antCradential Tvna=t TrnD4 4 i
clienciredentialliype="peticpBinding <security e
clientCredentialType="Transport™
<transport >

<fsecurity>
</binding>
</wasHttpBinding>
«fbhindings>
<faystem.serviceModel >

A.

Correct Answer: A
Section: (none)
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Explanation
Explanation/Reference:

<aystem.sarviceModel>

<protocolMapping>»

<add scheme="http=" binding="netTcpBinding"

M
b
= g
s

=B 5 |

M
8]

P I = R |
{20

I

B g0

BT ow o

A
=

ol
ol T = (R = |

<gecurity mode="Iransport™

</ securityd
</binding>
</wsHttpBinding>
< fhindingsr

f arss ey p——— % =5
<fesysten.serviceMogel>

QUESTION 11
DRAG DROP

You are developing an ASP.NET MVC Web API application. The application must meet the following requirements:

- It must send or receive data without the use of a buffer.
- It must allow up to 1 MB of data to be received.

- It must allow up to 2 MB of data to be sent.

>

A VCEPlus

You need to complete the code to meet the requirements. What should you do? (To answer, drag the appropriate code segments to the correct location
or locations in the answer area. Each code segment may be used once, more than once, or not at all. You may need to drag the split bar between panes

or scroll to view content.)
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ssssmsssssERaTEy

Answer Area

config SR ;
i
private static string basefddreass = "http://localhost:8080/";
Server ==
- atatic woid Main(=tring[] args)

MaxBufferSize {

var config = new HttpSelfHostConIiguration( baselddress);
MaxReceiveddessageSize config.Routes.MapHttpRoute (

name: "DefaunltApi®,
MaxConcurrentReguests routaTemplate: "api/{controller}/{id}",
defaults: new { id = RouteParameter.Optional }
Streamed Yz
i
Buffered -
B a = 1024 * 1024 = 2;
i = 1024 * 1024.;
.JransferMode =
IransferMode. :
var server = new HotpSelffdostServer (config):
server .Openlsync () .Wait () :
}
}
A.

Correct Answer: A
Section: (none)
Explanation
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Explanation/Reference:
class Prograr
{

H -:Il"'.-l"'.-l,- Ll

private static string baselAddress = "http://localhost:B0B0

atatic void Main(string(] args)
{
var config = new HttpSelfHostConf ﬁ..%_"lfthSEkddrESE';
config.Routes.MapHttpRoute (
name: "Defaultipi®™,
routeTemplate: "api/{controller)/{id}",
defaults: new { id = F Faramerer.Optional )}

-

Ci‘ﬂf..l:_ﬂ MaxBufferS5ize = lGEa i 1':'2"..
config MaxBeceivedMessageSize
2 = 1024 * 1024;
config i -
.LransferMode =
ITransfarMode, || Streamed &
VAr Server = new HoopSelfHostServer {config):
server .Openlsync () .Wait () :
}
}
QUESTION 12
DRAG DROP

You are developing an ASP.NET Web API action method.
The action method must return the following JSON in the message body.

{"Name": "Fabrikam", "Vendorld" :9823, Items": ['Dogs", "Cats") >

5}

A VCEPlus
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What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may
be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

You need to return an anonymous object that is serialized to JSON.

Answer Area
"Fabrikam", VendorBHumber = 9823, public object Get()
i1
"Fabrikam", VendorNumber = "Q823",
new List<string> { "Dogs™, "Cata" } {
: Name =
new List<string> { "Dogs, Cats"™ E
E Items =
return new List<string> }:
}
return new
A.
Correct Answer: A
Section: (none)
Explanation
Explanation/Reference:
public cbject Get()
{
return naw
{ -
Name = PFabrikasm™, VendorNumber = SBZ3,
Items = new List<string> { "Doga™, "Cata™ )
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QUESTION 13
DRAG DROP

A VCEPlus

You are developing an ASP.NET Web API application for currency conversion that will be consumed by a web browser by using a composite application
that is served from another web domain. You need to configure the Web API. What should you do? (To answer, drag the appropriate XML elements to
the correct location or locations in the answer area. Each XML element may be used once, more than once, or not at all. You may need to drag the split

bar between panes or scroll to view content.)

Access-Control-Allow-0Origin
Access-Control-Allow-Headers
Access—Control-Allow-Methods

Access-Control-Allow-Heguest-Method

Access-Control-Allow-Request-Headers

POST, GET

Content-Type

A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

Answer Area

<httpProtocol>
<customiBeaderzs>

<add name="Access-Control-Allow-Origin”

<add name="

EErrER e e

value="PUT, DELETE"/>

<add name="

11)mett

</custonteaders>
</httpProtocol>
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<httpProtocol>
=

i
value=r = LI b
<add name=" Access-Control-2llow-Methods -
value="PUT, DELETE"/>
<add name=" Access-Control-Allow-Headers z
>

QUESTION 14

You are developing an ASP.NET MVC application. The application is an order processing system that uses the ADO.NET Entity Framework against a
SQL Server database. It has a controller that loads a page that displays all orders along with customer information. Lazy loading has been disabled. The
Order class is shown below.

public partial class Order

public string CustomerID { get: =et: }

e oW

i

public wirtual Customer Customer { get:; set;

You need to return the orders and customer information in a single round trip to the database. Which code segment should you use?
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A pubklic ActionResult Index()
IQueryvable<Order> orders = db.Orders;
orders = prder=.Include("Custcomez");:

return View(orders.TolList()):
3

" B. public ActionResult Index()

IQueryvable<0rder> orders = dh.0Orders.Include ("Order.Customer™) ;

return View(orders.ToList()):

" C. public ActionResult Index()
ICueryable<Order> orders = db.0Orders:
orders.Select (o => o.Customer).Load() :
return View(orders.ToLi=t()):

D public ActionResult Index()
I0ueryabhle<Drdery orders = db.0Orders;
return View({orders.Tolist()):

H

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

A VCEPlus
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You are developing an ASP.NET MVC application that reads and writes data from a SQL Server database. You need to maintain data integrity in all
situations that use transactions.

ReadUncommitted
Repeatable
Serializable
ReadCommitted

Cow>

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 16

You are developing an ASP.NET MVC application. Deployment administrators do not have access to Visual Studio 2102, but will have the elevated
permissions required to deploy the application to the servers. You need to select a deployment tool for use by the deployment administrators. Which tool
should you use?

Publish Web Site Tool

Web Deployment Package
One-Click Publish
Deployment Package Editor

Cow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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Justin Case 1

QUESTION 1
Case Study: 1

Scenario 1

Background

You are developing a flight information consolidation service. The service retrieves flight information from a number of sources and combines them into
a single data set. The consolidated flight information is stored in a SQL Server database. Customers can query and retrieve the data by using a REST
API provided by the service. The service also offers access to historical flight information. The historical flight information can be filtered and queried in
an ad hoc manner. The service runs on a Windows Azure Web Role. SSL is not used.

Business Requirements

- A new data source for historical flight information is being developed by a contractor located on another continent.

- If a time zone is not specified, then it should be interpreted as Coordinated Universal Time (UTC).

- When you upgrade a service from a staging deployment to a production deployment, the time that the service is unavailable must be minimized.

- The default port must be used for HTTP.

Technical Requirements

The existing sources of flight information and the mechanism of exchange are listed below.

- Blue Yonder Airlines provides flight information in an XML file.

- Consolidated Messenger provides flight information in a Microsoft Access database that is uploaded every 12 hours to the service using SFTP. The
company uses port 22 for SFTP.

- Margie’s Travel provides and consumes flight information using serialized ADO.NET DataSets. Data is periodically synced between the service and
Margie's Travel.

- Trey Research provides data from multiple sources serialized in proprietary binary formats. The data must be read by using .NET assemblies provided
by Trey Research. The assemblies use a common set of dependencies. The current version of the Trey Research assemblies is 1.2.0.0. All assemblies
provided by Trey Research are signed with a key pair contained in a file named Trey.snk, which Trey Research also supplies.

- The application specification requires that any third-party assemblies must have strong names.

Application Structure

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online - IT Certifications



A VCEPlus

FlightInfo.cs

iNDT0

public class Flight
string DataSource { get: set: }
public string RAirline { g=t; =et; }
public string Flight { get:; set; }
public DatelimeQffset Arrival { get; set; }
public int Seats { get; set; }
public bool WasLate { get; =et; }

BlueYonderLoader.cs

public class BlueYond

:

n
&l

m

public IEnumerable<BawFlightData>» LoadFlights (XDocument feed)

private BawFlightData Parse (KElement flightElement)
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HistoricalDatalLoader.cs

pahlic class HistoricalDatseLoader

i

public static IEnumerable<HistoricalFlightInfo» LoadHiscoricalFlights ()

¥

public woid StreamHistoricalFlights (imlWriter responseNriter, string airline)

!

privace XElement ConvertToHistoricalFlight (XElement flight)

recurn new XElement ("Flight®™, flight);

H

privats string GetAirline (XElement flightName)

return flightName.Value,Substring (0, 2):

merable<iElement> HamoteDataStream()

return Xdocument.Load{("") .Elements()
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MargiesTravelSync.cs
public class MargiesTravelSync
public woid Synec()

® 8w

private DataSet LoadLocal|()
var dataSet = new DataSet():

datadSet.ReadXml ("local™) ;
return datasSet;

private ScreamWriter SendStream()

return new StreamiWriter("SendStream®) ;

private StreanmBesder ReceiveStream()

ReceiveStream®) ;

return new StreamBeader |

A VCEPlus
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FlightInfoContext.cs

public class FlightInfcContext : DbContext
4

%

public DhSet<FlightInfo» FlightInfo { get; sstc: )}

public override int SaveChanges()

return base,SaveChangesi{);

private bool IsTransient(int &x)
i
var errora = pewf] { 10053, 100549, 04 3:;

return errors.Contains(ex):

FlightDataController.cs

public clas=s FlightDataController @ ApiController
{
FlightInfoContext _Contex:c;

public FlightDataControilser()

_Context = new FlightInfoContext():

}

P T TR —
|HEEpEet |
B

publics: IEnumarable<FlightInfod> GetFlightInfal)

recturn _Context.FlightInic.Select(x => X).AsSEnumerable():

private IEnumerable<HiastoricalFlightInfo» LoadHistorical()

recturn HistoricalDatalLoader.LoadHistoricalFlights():

A VCEPlus
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A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
You need to recommend a data access technology to the contractor to retrieve data from the new data source. Which data access technology should
you recommend?

A. LINQ to XML

B. ADO.NET Entity Framework
C. ADO.NET DataSets

D. WCF Data Services

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 3
Data provided by Consolidated Messenger is cached in the HttpContext.Cache object. You need to ensure that the cache is correctly updated when new
data arrives. What should you do?

Ensure that the EffectivePrivateBytesLimit value is greater than the size of the database file.
Change the sliding expiration of the cache item to 12 hours.

Use the SqlCacheDependency type configured with a connection string to the database file.
Use the CacheDependency type configured to monitor the SFTP target folder.

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 4
DRAG DROP

You need to parse flight information from Blue Yonder Airlines. The content of the XML file is shown below.

<?xml version="1.0" encoding="utf-8"2?>
AT =

light zmins="urn:CFI" name="AS515">
<Seats>l23</5eats)>
Arrival>»5/2/2011 12:01:13</Arrival>
</Flight>
<Flight name="UN24">
<Seats>123</5eats>
<Arrival>5/1/2012 10:17:57 PM +02:00</Arrival>
</Flight>
<FlightManifest>

</FlightManifest>

Some airlines do not specify the timezone of the arrival time. If the timezone is not specified, then it should be interpreted per the business requirements.
You need to implement the LoadFlights() and Parse() methods of the BlueYonderLoader class. What should you do? (To answer, drag the appropriate
code segments to the correct location in the answer area. Each segment may be used once, more than once, or not at all. You may need to drag the
split bar between panes or scroll to view content.)
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var flights = fesd Elamants |
feed.Root.GectPrefix0fNamespace ("{urn:CFI}") + "Flight"):

var flights = feed.Descendants() .Wherei(x =>
X:Nodelype !'= XmlNodelype.XmlDeclaration && ([(atring)x ==
"Flight"):

var flights = feed.Descendants("{urn:CFI}Flight™)
Concat (feed.Descendants ("Elight™) ) ;

fi.Arrival = Datelimelffser . Parse(azrivalRaw,
aull, System.Globalization.DateTimeStyles.Assumelniversal):

fi. Arrival = DateTimeOffaesc . Parse(arrivalRaw,
null, System.Globalization.DateTimeStyles.AdjustToUniversal):

i.Arrivel = XmiConvert.ToDateTimeOffset (arrivallaw,
newf{] { "Local™, "Universal™ }}:

public IEnumerabplecFlightInfod LoadFlights (XDocumsnt fesd)

recurn flights.Select(x => Parse(x)):

private FlightInfo Parse(XElement flightElement)
{
var £ = ney FlighcInfol):
fi.Flight = flightElemant. Atcribute ("nams®™) . Valus:

var arrivalRaw = flightElement.Element ("Arrival"™) .Value; r - VCE Exam Simulator - VCE Online - IT Certifications



A.

Correct Answer:
Section: (none)
Explanation

Explanation/Reference:
public IEnumerable<FlightInfo>» LoadFlights (XDoccument fead)

{

-

var flights = feed.Descendants(™{uarn:CFI}Flight™)
.Concat [feed.Deacendancs ("Elight"™) ) ;

urn flighta.Jelect(x => Parse(x)):

private FlightInfeo Parse(XElement flightElement)
{
var fi = pay [ jhelnfa()
fi.Flight = flightElsment.Atcribuce ("nams®) . Valus;:
var arrivalBaw = flightElement.Element ("Arrival™) .Value;
fi.Arrival = DatelTimelffsec.Parse{arxivalRaw,
nall, System.Globalization.DatelTimeStyles.AssumelUniversal)
fi.5eacs = KmiCo: verc.TolInc32 (flighcElement.Elementc ("Seats™) ..
recurn fi;
QUESTION 5

A VCEPlus

Historical flight information data will be stored in Windows Azure Table Storage using the Flightinfo class as the table entity. There are millions of entries
in the table. Queries for historical flight information specify a set of airlines to search and whether the query should return only late flights. Results should
be ordered by flight name. You need to specify which properties of the Flightinfo class should be used at the partition and row keys to ensure that query
results are returned as quickly as possible. What should you do? (Each correct answer presents part of the solution. Choose all that apply.)

A. Use the WasLate property as the row key.
B. Use the Airline property as the row key.
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Use the WasLate property as the partition key
Use the Arrival property as the row key.

Use the Airline property as the partition key.
Use the Flight property as the row key.

nmoo

Correct Answer: CF
Section: (none)
Explanation

Explanation/Reference:

QUESTION 6
Errors occasionally occur when saving data using the FlightinfoContext ADO.NET Entity Framework context. Updates to the data are being lost when an

error occurs. You need to ensure that data is still saved when an error occurs by retrying the operation. No more than five retries should be performed.
With which code segment should you replace the body of the SaveChanges() method in the FlightinfoContext.cs file?
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C B

 C.

& )

var result = FlightInfo.5gqlQuery ("UPDATE WITH RETIRY™, FlightInfo,
if (result.Count() > 5)

{
resulc.AsNoTracking():
recurn -1;

}

recurn 0;

try
{

return base. SaveChang=s():
}

catch (EncityCommandExecutionException ex)
i

if (ex.Data.Keys.Casc<int>() .Any(x => IsTransient(x)))
{

recurn 5 & SaveChanges():
}

return =12
}
for (var 4 = 0; 1 < 5; 1+44)
{
try
{

return bassa,SaveChangea():
}
catch (SglException ex)
{

if (IsTranszient (ex.Number))
{

continue;

}
return base. SaveChanges():

var sxception = new EntitySglException():

while (exception.HResult != 0 £ exception.Data.Count < 5)
{

Tty
{

return base.SaveChanges():
}

catch (EntitySglException ex)

A VCEPIlus
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Option A
Option B
Option C
Option D

Cow>»

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

EntitySglException : Represents errors that occur when parsing Entity SQL command text. This exception is thrown when syntactic or semantic rules are
violated.

SqlException : The exception that is thrown when SQL Server returns a warning or error. This class cannot be inherited.
EntityCommandExecutionException : Represents errors that occur when the underlying storage provider could not execute the specified command. This
exception usually wraps a provider-specific exception.
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Justin Case 2

QUESTION 1
Case Study: 2

Scenario 2

Background

You are developing an ASP.NET MVC application in Visual Studio 2012 that will be used to process orders.
Business Requirements

The application contains the following three pages.

- A page that queries an external database for orders that are ready to be processed. The user can then process the order.
- A page to view processed orders.

- A page to view vendor information.

The application consumes three WCF services to retrieve external data.

Technical Requirements

Visual Studio Solution:

The solution contains the following four projects.

- ExternalQueue: A WCF service project used to communicate with the external order database.

- OrderProcessor: An ASP.NET MVC project used for order processing and logging order metadata.

- OrderUpload: A WCF service project used to submit order data to an external data source.

- Shipping: A WCF service project used to acquire shipping information.

ExternalQueue Project:

Entity Framework is used for data access. The entities are defined in the ExternalOrders.edmx file as shown in the following diagram.
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4 InboundQueue (%
|4 QueueDetan (=

= Properties

¢il CrderNum = Properties
F Vendorld il CrderNum
# FilePath 1 0.1 F Productld
| M OrderValue & ProductDescripti...

. = ;
| = Navigation Properties Mavigation Properties

v2l QueueDetail v InboundQueue

The project contains two services defined in the following files.
- |IExternalQueueService.cs
- ExternalQueueService.svc.

The ExternalQueue.Helpers namespace contains a definition for a class named OrderNotFound Exception.

OrderProcessor Project:

Entity Framework is used for data access. The entities are defined in the ProcessedOrders.edmx file as shown in the following diagram.

%y ProccessedOrder 2

%; Vendor Al | = Properties
: Wil 1d
= Properties | F OrderNum
W ld | F ProcessedDateTi...
F Name | 1 ) F Value
=l Navigation Properties | & VendorlD
¥ ProccessedOrders = Navigation Properties
l -rn:-‘ Vendor
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The classes are contained in the OrderProcessor.Entities namespace. The project contains the following two controllers.
- InboundQueueController.cs
- ProcessedOrderController.cs

WCF service proxies to the ExternalQueue, Shipping and OrderUpload services have been generated by using the command prompt. The
ExecuteCommandProcedure() method in the ExternalQueueService.svc file must run asynchronously.

The ProcessedOrderController controller has the following requirements.

The GetVendorPolicy() method must enforce a 10 minute absolute cache expiration policy.

The GetProcessedOrders() method must return a view of the 10 most recently processed orders.
OrderUpload Project:

The project contains two services defined in the following files.

- IlUploadCallbackService.cs

- UploadCallbackService.svc

Data Access is maintained in a file named UploadOrder.es.

Shipping Project:

Entity Framework is used for data access. The entities are defined in the ExternalOrders.edmx file as shown in the following diagram.
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#: ShippingAddress 2
= Properties #y State &)
Wil Vendorld !
|| Address S Era |
1 City b  Jf Stateld
FZip 1] P StateName
M Stateld = Navigation Properties |
=l Navigation Properties =l ShippingAddresses

=
y:-l State

The Custom Tool property for ExternalOrders.edmx has been removed. POCO classes for the Entity Model are located in the ShippingAddress.cs file.
The POCO entity must be loaded by using lazy loading. The project contains two services defined in the following files.

- IShippingService.cs

- ShippingService.svc.

The IShippingService contract must contain an operation that receives an order number as a parameter. The operation must return a class named
Shippinglnfo that inherits from a class named State.

Application Structure
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ExternalQueue\lExternalQueueService.cs

1001
1002
1003
1004
1005
IQ06
1007
1008
1009
1Q10
1011
1012
1013
1014
1015
1016
1017
1018
I019
1020

using System.Collections,.beneric:
using System.ServiceModel;
using ExternalQueue . Helpers:

namespace ExternalCueue

i
[ServiceContract]
public interface IExternalfusueService
{
[OperationContract]
List<Entities,Inboundfusue®> GetExternalOrders{) :
[FaulcConcract (cypeof (OrderNotFoundException) ) ]
[OperationContract]
volid DeleteExternalOrder (int orderlNum) ;
[OperaticonContract]
Entitises, InboundQueue GetExternalOrder (int orderNum) ;
}
¥

A VCEPlus
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OrderProcessor\IExternalQueueService.svc

EQ01
EQO2
EQD3
EQO04
EQOS
EQOs
EQOQ7
EQoe
EQO9
EQ10
EQ1Y
EQ12
EQ13
EQls
EQis
EQ16
EQ17
EQls
EQ1%
EQz0
EQ21
EQ22
£Q23
EQ24
EQZ25
EQ2s

using System;

using System.Collactions.Generic;
using System.ling;

using System.Data.EntityClient;
using Syscem.Data;

using ExternalQueus.Entities;
using System.Data.Objects:

using ExternalQueue.Helpers;
using System.ServiceModel:

using Syscem.Threading.Tasks;

namespace External{ueue
; public class ExternalQueueService | IExternaiCueusService
{ public List<Entities.Inboundfueued> GetExternalOrders|()
{ Lisc<InboundQueue> gqueusltems = new Lisc<InboundQusue>():
recurn gueuslItems;

r

public void DeleteExternalOrder (int orde=rHum)
{
using (var context = ney ExcernalOrdersEntities())
i
var orders = gontext.InboundQueues.Where(i => i, 0rderNum ==

orderfum) .ToLisc () :

EQ27
EG2e
EQ29
EC30
EQ31
EQ32
EQ33
EQ34
EQ3s
EQ36
EQ37
EQ38
EQ39
EQ40
EQ4l
£Q42
EQ43
EC44
EQ45
EQ45

wTihan

if (orders.Counct() > 0)
{
using (EntictyCommand cmd = new EncityCommand())
i
cmd.CommandText = "ExternalOrdersEntities.usplinboundQuenselelace™;
cmd. CommandType = CommandType.StoredProcedure;
EntityParameter param = pew EntityParameter():
param.Value = grderNum;
param.ParameterName = "grderNam":
cmd, Parameters.hdd (param) :
ExecutelommandProcedure (cmd) ;
}
}
else
{
OrderNotFoundException X = mew OrderFocFouncException():
ex,.0rderfum = grderNum;
ex. . ExceptionMessage = "Order not found...Cannot delete®:

A VCEPIlus
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ExternalQueue‘\ProcessedOrderController.cs

PCO1
PCO2
BCO3
PCO4
BCOS
PCOE&
BCO7
pcos
PCOS
PC10
PC11
PC12
PC13
PC14
PC15
PClE
PC17
PC18
PC1%
PC20
PC21
pcaz
PC23
PC24
PC25
PC2&

PC27

using System;

using System.Collection=.Feneric:
using System.Ling:

u=ing System.Runtime,Caching:
using System.Web.Mve!

using COrderProcessor.Entitcies;
using OrderProcessor . Helpsrs:
using Syscem.Configuration:

namsspace OrderProcessor.Controllers
{
public claas ProceasedOrderController : Controller
{
public ActionResult GatProcessadOrders()
{
using (var context = new ProceasedOrders())
{
Lisc<Entities, Proccessedlrder> orders = ney Lisc{ProccesaedOrder> ()
racurn View(orders):
}
i

privace ObjectCache cache {(get { return MemoryCache.Default: }}

public ActionBesult GetVendors()
{
List<Entities.Vendor> vendors = cache.Get

("vendozrRey™) as List<Entities.Vendor>;

pPczg
PCcC29
PC30
PC31
PC32
PC33
PC34
PC35
PC3&
BC37
PC38
PC3%9
PC40
PC41
PC42

Rl e L S

if (vendors == null)
{
using (var context = new FrocessedOrders())

L |
vendors = context.Vendors.ToList():

}
}

return View(vendors):

}

privace CacheltemFolicy GetVendorPolicy()
{

CachelitemPolicy vendorPolicy = new CacheltemPolicy({):

e e L e T iy, e, eyt e R N e T
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OrderProcessor\InboundQueueController.cs

IC01 using System;

IC0Z using System,Collections,.Generic;
ICO3 using System.Web.Mvec:

IC0O4 using OrderProcessor.Entities:
ICO5 using ExternalQueue.Entities;
IC0€ using Systenm.ServiceModel;

ICO7 using System.Collections;

ICOA using Excernalfusus.Helnpars:

IC09 using OrderFrocessor.Helpers:
IC10 uaing Sysctem.Ling;

IiCi1

IC1Zi namespace OrderProcessor.Controlliers

IC13 {

IC14 public class InboundQueneController : Controller

IC15 {

IC16 public ActionBesult GetQueueltems()

Ic1? {

IC1B IEnumerable<Inboundfueus> inboundOrders = Epumerable.Empty<InboundQueue>();
IC1% recurn View (inboundOrders):;

IC20 }

ICz1

ICZ2 public ActionResult ProcessOrder (int orderNum)

IC23 {

ICZ24 ExternalQueueServiceClient gService = pew ExternalQueueServiceClient():
IC25 InboundQueus externalOrder = gService.GetExternalOrder (orderNum) ;
ICZ6 if (externalOrder ! null)

IC27 {

ICZ28 using (var context = new ProcessedOrders())

IC2a {

IC30 ProccesasedOrder order = new ProccessedOrder ()

IC31 order.COrderfum = externalOrder.OrderNum;

IC32 order.Value = Convert.ToDouble (externalOrder.OrderValue) ;
IC33 order . VendorlID = Convert.ToIntiZ (externalOrder.Vendorid):
IC34 order,ProcessedDateTime = Datelime.Now;

IC3S context,ProccessedOrders.idd (order);

IC36 context.SaveChanges()

IC37 }

IC3g gService.DeleteExternalOrder (orderNum)

ICc3s ¥

IC40 return Redirectlofction("GetQueuelitems™)

IC41 }

IC42

IC43 public ActionResult ViewShippingInfo(int orderNum) - VCE Online - IT Certifications
IC44 {

IC45 ShippingServiceClient shipService = new ShippingServiceClient():
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OrderUploadi\IUploadCallbackService.cs

IU0]1 using System.ServiceModel:

I002

1003 namespace OrderUpload

I004 ¢

1005 [ServiceContract (CallbackContract = typeof (IUploadCallback)) ]
1006 public interface I0ploadCallbackService
1007 {

IUos [OperationContract]

10046 void UploadOrder (int orderNum) :

I010 }

I011

1012 public interface IUploadCallback

1013 i

I014 [CperationContract]

1015 decimal GetOrderValue (int orderBum) :
I01s& }

IU17 }
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OrderUpload\UploadCallbackService.svc

US01 using System.ServiceModel:

Usoz2

U503 namespace OrdexrUpload

Usos ¢

Us05 public class UploadCallbackService : IUpleoadCallbackServi
Us06 {

uso7 public wvoid UploadOrder (int orderNum)
Us08 {

Usos }

Usio }

Usil }

Shipping\IShippingService,cs

1501 using System,.Buntime.Serialization;
1502 using Svatem.ServiceModel;

I503

1504 namespace Shipping

1505 {

1506 public interface IShippingService
I507 {

I508

I50%9 }

I510 %

www.vceplus.com - Download A+ VCE (latest) free Open VCE Exams - VCE to PDF Converter - VCE Exam Simulator - VCE Online - IT Certifications



A VCEPlus

Shipping\ShippingAddress.cs

SAOL using System.Collections.Generic;
SAUZ using System.Data.Cbjects;

SAQ3

SA04 namespace Shipping.PFOCO

SA0S {

SEOE public class Shippingiddress

SROT 4

SADS8 public int VendorId { get; ==t }
SADS public =tring Address { get; =etc; }
SARLO public string City { get; set; }
SR11 public int Stateld { get: set;: }
SA12 public =tring Zip { get; set: }
SAl3 public State State { get; =set: }
SAl4 }

SA15

SAlE public class State

SA17 i

SAl138 public int StatelId { get; set: }
SAl19 public string StateName { get; =setc; }
SRZ0 public List<Shippingidddress> ShippinghAddresses { get; set: }
SEZ1 ki

Sa22 )

A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
DRAG DROP

You add a class hamed Shippinginfo. You need to modify the IShippingService interface and the Shippinginfo class to meet the technical requirements.

What should you do? (To answer, drag the appropriate code segments to the correct location or locations in the answer area. Each code segment may
be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll to view content.)
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Answer Area

[CollectionDataContract] public incerface IShippingService
I
e -
nfo GecShippinglnfo(int orderNum):
serviceContract] 3

public scring ScateName { get: =eat:

public class Shippinginfo : 3tate

{

public string Sctreetlddress { get: =etc; }

public string ZipCode { get; s=etc;
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

- = -
e a™ e st

public scring ScateMame { gat: =at:

public class Shippinginfoc : 5tate

I
1
| DataMember

public scring Streethddre=s { get: setc: }

public scring ZipCode { get:; sec;

QUESTION 3
DRAG DROP

You need to modify the ExecuteCommandProcedure() method to meet the technical requirements. Which code segment should you use?
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Answer Area

private async Task ExecuteCommandProcedure (EntityCommand command)

{

await command.ExecuteNonQueryvisync(): using (EntityConnection connection
= new EntityConnection ("name=Extce

await connection.OpenhAsync():;

5]

nalOrdersEncitiss™))

connection.OpeniAsync (] : {

command . Connection = connection:
command.OpenhAsynci{) ;

await command.QuervAsyonc();

A.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Second answer is wrong, it should be "await command.ExecuteNonQueryAsync();"
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private async Task ExecuteCommandProcedure (EntitvCommand command)
{

u=sing (EntityConnection connection
= new EntityConneccion ("name=ExcernalCrdersEncicies™))
{

CC]’T‘IT.&!‘;d.CER!‘.ETEl;", = Conneccions:

gwait connection.OpenAsync():

await command.QuerviAsynci):

Credits to Rem

QUESTION 4
The GetVendors() action in the ProcessedOrderController controller is querying the database each time it is run. The GetVendors() action must query
the database only if the cache is null.

You need to add code to the action at line PC33 to cache the data. Which code segment can you use? (Each correct answer presents a complete
solution. Choose all that apply.)

cache.Set(new Cacheltem("vendorKey", vendors), GetVendorPolicy());
cache.Add("vendors", vendors, new CacheltemPolicy());
cache.Add(new Cacheltem("vendorKey", vendors) , GetVendorPolicy());
cache.AddOrGetExisting("vendorKey", context, new CacheltemPolicy());

Cow>»

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
QUESTION 5
DRAG DROP

The UploadOrder() method in the UploadCallbackService service is not implementing the callback behavior defined in the IUploadCallBackService
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interface. You need to modify the class to implement the required callback behavior. What should you do? (To answer, drag the appropriate code

segments to the

correct location or locations in the answer area. Each code segments may be used once, more than once, or not at all. You may need to drag the split

bar between panes or scroll to view content.)

Answer Area
Maltiple [Se:
Single ConcurrencyMode.
GetOrderValue

public class UploadCallk kService

UploadCallbackService public void UploadOrder (int orderBum)

callback =

Corrent .GetCallbackChannel<

>{):

|
decimal value = callback.|

-Upload {orderNum,

A.

Correct Answer: A
Section: (none)
Explanation

’nr derNum) ;

value} ;
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Explanation/Reference:

[ServiceE or (ConcurrencyMode =
ConcurrencyMode. Single 1]
public class UploadCallbackService : IUploadCallbackSsrvice

public void UploadOrder (int orderBum)

ST callback = OperationContex?
.Current.GetCallbackChannel< | ITploadCallback >()+
decimal value = gallback. GetOrdervValue rzrderﬁum}:

OploadDB.UpioadOrder .. Upload{orderiom, value):
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